
CHEMISTRY

BOOKS - S DINESH & CO CHEMISTRY (HINGLISH)

ATOMIC STRUCTURE

Multiple Choice Questions

1. What is wrong about anode rays?

A. Their e/m ratio is constant

B. They are deflected by electrical and magnetic field

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OH1Gln9cyXvg


C. They are produced by ionisation of molecules of the

residual gas

D. Their e/m ratio depends on nature of residual

Answer: A

Watch Video Solution

2. Which of the following statement is incorrect?

A. The energy of radiation increases with decrease in

wavelength

B. The spectrum of H atom is exactly same as that of

 ionHe+

https://dl.doubtnut.com/l/_OH1Gln9cyXvg
https://dl.doubtnut.com/l/_Zh8Gx67wYQxM


C. Energy of radiation increases with increase in 

D. The frequency of radiation is related to wave number

as .

Answer: B

Watch Video Solution

ν̄

ν = Cν̄

3. When a gold sheet is bombarded by a beam of 

particle, only a few of them get deflected whereas most go

straight, undeflected. This is because :

A. the force of attraction on particles by the

oppositely charged electron is not sufficient

α −

α −

https://dl.doubtnut.com/l/_Zh8Gx67wYQxM
https://dl.doubtnut.com/l/_rwj98y1pj6NG


B. the nucleus occupies much smaller volume as

compared to the volume of atom

C. the force of repulsion on fast moving -particles is

very small

D. the neutrons in the nucleus do not have any effect on

-particles

Answer: B

Watch Video Solution

α

α

4. An electron is excited to fourth energy level in an atom.

It will

A. remain there permanently

https://dl.doubtnut.com/l/_rwj98y1pj6NG
https://dl.doubtnut.com/l/_VyeaWLFJ4apl


B. come back to original state either in one or more

jumps

C. come back to ground state in one jump

D. rise to higher energy levels.

Answer: B

Watch Video Solution

5. Which of the following is not correct according to

Planck's quantum theory ?

A. Radiations are associated with energy

B. Magnitude of energy associated with a quantum is

equal to hv

https://dl.doubtnut.com/l/_VyeaWLFJ4apl
https://dl.doubtnut.com/l/_hVlR2T0D19Ke


C. Radiation energy is neither emitted not absorbed

continuously

D. A body can emit less or more than a quantum of

energy.

Answer: D

Watch Video Solution

6. Which of the following statements concerning light is

false?

A. It is a form of energy

B. It cannot be deflected by a magnet

C. It consists of photons of same energy

https://dl.doubtnut.com/l/_hVlR2T0D19Ke
https://dl.doubtnut.com/l/_anQI0mQv70nq


D. It is a part of electromagnetic spectrum.

Answer: C

Watch Video Solution

7. Which of the following statements is wrong? The

probability of finding the electron in  orbital is

A. maximum on two opposite sides of the nucleus along

x-axis

B. zero at the nucleus

C. same on all the sides around the nucleus

D. zero on the z-axis.

px

https://dl.doubtnut.com/l/_anQI0mQv70nq
https://dl.doubtnut.com/l/_eJODugYg6QGE


Answer: C

Watch Video Solution

8. In unielectron system, the wave number of any spectral

line is directly proportional to

A. the number of particles present in the system

B. the velocity of electron undergoing transition

C. 

D. the charge on the nucleus and the  of light used.

Answer: C

Watch Video Solution

−
1

n2
1

1

n2
2

λ

https://dl.doubtnut.com/l/_eJODugYg6QGE
https://dl.doubtnut.com/l/_dQIqQ5KjiIgn


9. One among the following statements is correct?

A. An orbital containing an electron having quantum

numbers n = 2, l =0, s = +1/2 is spherical

B. The frequency of X-rays is less than radiowaves

C. All photons have same energy

D. As intensity of light increases, the frequency

increases.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DiXI49BYfzZV


10. The conclusion that every additional electron enters the

orbital with lowest possible energy has been drawn from

A. Pauli's exclusion principle

B. Hund's rule

C. Aufbau principle

D. de-Broglie's equation.

Answer: C

Watch Video Solution

11. Bohr's model of atom is not in agreement with

A. Line spectra of hydrogen atom

https://dl.doubtnut.com/l/_bHGgsiGquph8
https://dl.doubtnut.com/l/_Va18Cl6ElJOE


B. Pauli's principle

C. Planck's theory

D. Heisenberg's principle

Answer: D

Watch Video Solution

12. Which of the following statement is correct?

A. All electromagnetic radiations do not possess the

same velocity

B. Matter waves are associated with electrical and

magnetic fields

https://dl.doubtnut.com/l/_Va18Cl6ElJOE
https://dl.doubtnut.com/l/_U2tjaf0qwsEf


C. Matter waves and electromagnetic radiations are

alike

D. The velocity of matter wave is generally less than that

of light.

Answer: D

Watch Video Solution

13. Which of the following statements is correct?

A. The different energy levels are equally spaced

B. The energy of the electron decreases as the value of

n increases

https://dl.doubtnut.com/l/_U2tjaf0qwsEf
https://dl.doubtnut.com/l/_fb5KtcxIe4pa


C. Energy of the electron in an atom is negative

D. Bohr's theory explains the spectrum of multi-electron

atoms.

Answer: C

Watch Video Solution

14. Which experimental observation correctly account for

the phenomenon ?

A. 

B. 

C. 

Experimental observation Phenomenon

X-rays spectra Charge on nucleus

Experimental observation Phenomenon

α − particle scattering Quantized electron orbit

Experimental observation Phenomenon

Photoelectric effect The nuclear atom

https://dl.doubtnut.com/l/_fb5KtcxIe4pa
https://dl.doubtnut.com/l/_kZxlCvDzW1mW


D. 

Answer: D

Watch Video Solution

Experimental observation Phenomenon

Emission spectra Quantization of energy

15. In the Schrodinger's wave equation  represents

A. orbit

B. wave function

C. wave

D. radial probability

Answer: B

Ψ

https://dl.doubtnut.com/l/_kZxlCvDzW1mW
https://dl.doubtnut.com/l/_ddF17bJgJvji


Watch Video Solution

16. Which of the following gave the idea of nucleus of the

atom ?

A. Oil drop experiment

B. Davisson and Germer's experiment

C. -ray scattering experiment

D. Austen's mass spectrogram experiment.

Answer: C

Watch Video Solution

α

https://dl.doubtnut.com/l/_ddF17bJgJvji
https://dl.doubtnut.com/l/_H2jhGPm5tn5S


17. Cathode rays have same charge to mass ratio as

A. -particles

B. -rays

C. Anode rays

D. Protons

Answer: B

Watch Video Solution

α

β

18. Which of the following statements is/are correct ?

A. Isotopes have same number of nucleus

B. Isobars have same number of protons

https://dl.doubtnut.com/l/_rEmw8HTBWbab
https://dl.doubtnut.com/l/_16CyPiXTl7IM


C. Isotones have same number of neutrons

D. Isobars are atoms of different elements with same

isotopic number

Answer: C

Watch Video Solution

19. According to Bohr's Model of hydrogen atom

A. Total energy of the electron is quantized

B. Angular momentum of the electron is quantized and

given as 

C. Both (A) and (B)

√l(l + 1).
h

2π

https://dl.doubtnut.com/l/_16CyPiXTl7IM
https://dl.doubtnut.com/l/_spsba7NbDfRa


D. None of the above

Answer: C

Watch Video Solution

20. Rutherford's experiment established that

A. inside the atom there are positive centres immersed

in sea of electrons

B. nucleus contains protons, neutrons and mesons

C. most of the space in an atom is empty

D. All A, B and C

Answer: C

https://dl.doubtnut.com/l/_spsba7NbDfRa
https://dl.doubtnut.com/l/_SVuZsgcjiQHx


Watch Video Solution

21. Mathematically, Heisenberg's uncertainty principle can

best be explained by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Δx × Δp ≥
h

π

Δp ≥
πh

Δx

Δx × Δp ≥
h

4π

Δx ≥
Δp × h

4π

https://dl.doubtnut.com/l/_SVuZsgcjiQHx
https://dl.doubtnut.com/l/_o1uPQPlyqZZX


22. The correct Schrodinger's wave equation for an electron

with total energy E and potential energy V is given by:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ + + (E − V )Ψ = 0
∂2Ψ

∂x2

∂2Ψ

∂y2

∂2Ψ

∂z2

8π2

mh2

+ + + (E − V )Ψ = 0
∂2Ψ

∂x2

∂2Ψ

∂y2

∂2Ψ

∂z2

8πm

h2

+ + + (E − V )Ψ = 0
∂2Ψ

∂x2

∂2Ψ

∂y2

∂2Ψ

∂z2

8π2m

h2

+ + + (E − V )Ψ = 0
∂2Ψ

∂x2

∂2Ψ

∂y2

∂2Ψ

∂z2

8πm2

h2

23. In which of the following electron distribution in

ground state, only the Hund's rule is violated?

https://dl.doubtnut.com/l/_WGFBOGx0utY9
https://dl.doubtnut.com/l/_9OqknwDkVBt6


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

24. Heisenherg's uncertainty principle rules out the exact

simultaneous measurment of:

A. probability and intensity

B. energy and velocity

C. charge density radius

https://dl.doubtnut.com/l/_9OqknwDkVBt6
https://dl.doubtnut.com/l/_CrHJ228JRSbV


D. position and velocity.

Answer: D

Watch Video Solution

25. Which of the following expressions imposes the

condition of quantization of energy of an electron in an

atom ?

A. 

B. E = h v

C. 

D. 

E = mc2

λ =
h

mv

mvr =
nh

2π

https://dl.doubtnut.com/l/_CrHJ228JRSbV
https://dl.doubtnut.com/l/_d2w3OXR4wles


Answer: D

Watch Video Solution

26. The total number of electrons in a principal energy shell

is designated by expression

A. n

B. 

C. 

D. 

Answer: D

Watch Video Solution

2n + 1

n2

2n2

https://dl.doubtnut.com/l/_d2w3OXR4wles
https://dl.doubtnut.com/l/_g5QuQnmBzh0u


27. The total number of electrons in a subshell designated

by azimuthal quantum number, l is given as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2l + l

l2

4l + 2

2l + 2

28. According to Bohr's theory the angular momentum of

an electron in the fourth orbit is

https://dl.doubtnut.com/l/_o5qmrG50GnGj
https://dl.doubtnut.com/l/_eJ6E0pN8E6pl


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

h

2π

2h
π

3h
2π

3h
π

29. wave mechanical model of the atom depends upon:

A. de-Broglie's concept of duality

B. Uncertainty principle

C. Schrodinger's wave equation

https://dl.doubtnut.com/l/_eJ6E0pN8E6pl
https://dl.doubtnut.com/l/_JuOwE6HADQGQ


D. All the above

Answer: D

Watch Video Solution

30. The conclusion that orbital can accommodate only two

electrons is derived from

A. Heisenberg's principle

B. Aufbau rule

C. Pauli's exclusion principle

D. Hund's rule

Answer: C

https://dl.doubtnut.com/l/_JuOwE6HADQGQ
https://dl.doubtnut.com/l/_zErWXD14RHS3


Watch Video Solution

31. The average distance of electron from the nucleus in an

atom is of the order of

A. 1 cm

B. 

C. 

D. 1 mm

Answer: C

Watch Video Solution

10− 13cm

10− 8cm

https://dl.doubtnut.com/l/_zErWXD14RHS3
https://dl.doubtnut.com/l/_Lj7D48fIA0dX


32. A region in space around the nucleus of an atom where

the probability of finding the electron is maximum is called

A. sub-level

B. orbit

C. orbital

D. electron shell

Answer: C

Watch Video Solution

33. According to Bohr's model of the atom, an electron can

revolve around the atomic nucleus in a suitable orbit

https://dl.doubtnut.com/l/_yYct33dl5Db7
https://dl.doubtnut.com/l/_1W29JUEeWoUh


without emitting energy if its orbit

A. is a perfect circle

B. is a circle with a large radius

C. houses a whole number of de-Broglie waves

D. houses odd number of de-Broglie waves.

Answer: C

Watch Video Solution

34. Which of the following statement concerning Bohr's

model is false ?

https://dl.doubtnut.com/l/_1W29JUEeWoUh
https://dl.doubtnut.com/l/_JGSjQE4FN2Qp


A. Predicts that probability of electron near nucleus is

more

B. Angular momentum of electron in H atom 

C. Introduces the idea of stationary states

D. Explains line spectrum of hydrogen.

Answer: A

Watch Video Solution

=
nh

2π

35. The kinetic energy of the electron in the nth orbit of an

atom is given by the relation

A. 

B. 

−
4π2me4

n2h2

−
2π2me4

n2h2

https://dl.doubtnut.com/l/_JGSjQE4FN2Qp
https://dl.doubtnut.com/l/_2bvVFjIsLVJe


C. 

D. None of these

Answer: C

Watch Video Solution

−
2π2me4

n2h2

36. The de-Broglie equation suggests that an electron has

A. Particle character

B. Wave character

C. Particle as well as wave

D. None of the above statements are true.

Answer: C

https://dl.doubtnut.com/l/_2bvVFjIsLVJe
https://dl.doubtnut.com/l/_SLcyjX29Myxx


Watch Video Solution

37. According to Bohr's atomic model

A. electron on H atom can have only certain values of

angular momentum

B. electrons have a particle as well as wave character

C. atomic spectrum of atom should contain only five

lines

D. all the above statements are correct

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SLcyjX29Myxx
https://dl.doubtnut.com/l/_zXxBSKaYeTSA
https://dl.doubtnut.com/l/_bC5wp2AVaxjO


38. The transition of electron in H atom that will emit

maximum energy is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n3 → n2

n4 → n3

n5 → n4

n6 → n5

39. The limiting line Balmer series will have a frequency of

A. 3.29 × 1015s− 1

https://dl.doubtnut.com/l/_bC5wp2AVaxjO
https://dl.doubtnut.com/l/_DbNsHNRA6IXB


B. 

C. 

D. 

Answer: C

Watch Video Solution

3.65 × 1014s− 1

8.22 × 1014s− 1

9.22 × 1014s− 1

40. Which of the following configuration is incorrect ?

A. 

B. 

C. 

D. 

1s22s22p2
x2p2

y2p0
z

1s22s22p1
x2p1

y2p0
z

1s22s22p1
x2p1

y2p1
z

1s22s22p63s23p63d54s1

https://dl.doubtnut.com/l/_DbNsHNRA6IXB
https://dl.doubtnut.com/l/_PYyHdRL9ocMR


Answer: A

Watch Video Solution

41. The wavelngth fo a spectrl line for an electronic

transition is inversely related to :

A. Z (nuclear charge)

B. velocity of electron

C. number of electrons undergoing transition

D. the energy difference between the enregy levels

involving transition.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PYyHdRL9ocMR
https://dl.doubtnut.com/l/_WejKR9mMft9s


42. The phenomenon of splitting of spectral lines under the

influence of the electric field is known as

A. Photoelectric effect

B. Stark effect

C. Zeeman effect

D. Electromagnetic effect

Answer: B

Watch Video Solution

43. The electronic configuration of  is :_ (46)Pd

https://dl.doubtnut.com/l/_WejKR9mMft9s
https://dl.doubtnut.com/l/_m1usXVceDZWP
https://dl.doubtnut.com/l/_UBQhXnv8xEXm


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p63s23p63d104s24d85s2

1s22s22p63s23p63d104s24p64d105s0

1s22s22p63s23p63d104s24p64d95s1

1s22s22p63s23p63d104s24p64d85s25p6

44. In H atom when electron jumps from 1s to 2s orbital,

A. energy is released

B. energy and absorbed

C. the atom becomes cation

https://dl.doubtnut.com/l/_UBQhXnv8xEXm
https://dl.doubtnut.com/l/_SFU1dJA99SY9


D. size of the atom decreases

Answer: B

Watch Video Solution

45. If the energy of electron in H atom is given by

expression  then the energy required to

excite the electron from ground state to second orbit is

A. 328 kJ

B. 656 kJ

C. 984 kJ

D. 1312 kJ

− kJmole− 11312

n2

https://dl.doubtnut.com/l/_SFU1dJA99SY9
https://dl.doubtnut.com/l/_mSxegk7RYOvc


Answer: C

Watch Video Solution

46. In the atomic spectrum of hydrogen, the spectral lines

pertaining to electronic transition of n = 4 to n = 2 refers to

A. Lyman lines

B. Balmer lines

C. Paschen lines

D. Brackett lines.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mSxegk7RYOvc
https://dl.doubtnut.com/l/_JJELZfgAGRdA


47. When electronic transition occurs from higher energy

state to lower energy state with energy difference equal to

 electron volts, the wavelength of the line emitted is

approximately equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔE

× 10− 10m
12397

ΔE

× 1010m
12397

ΔE

× 10− 10cm
12397

ΔE

× 1010cm
12397

ΔE

https://dl.doubtnut.com/l/_9BkjHqJUuq0T


48. In hydrogen spectrum, the series of lines appearing in

ultra violet region of electromagnetic spectrum are called

A. Balmer lines

B. Lyman lines

C. Pfund lines

D. Brackett lines.

Answer: B

Watch Video Solution

49. If ionization energy of H atom is 13.6 eV, then the

second ionization energy of He should be-

https://dl.doubtnut.com/l/_9cxlUJrnsFPq
https://dl.doubtnut.com/l/_fngatjqg3WJz


A. 

B. 

C. 

D. Cannot be predicted

Answer: C

Watch Video Solution

13.6eV

27.2eV

54.4eV

50. The first line in the Balmer series in the H atom will have

the frequency

A. 

B. 

C. 

4.57 × 1014s− 1

3.29 × 1015s− 1

8.22 × 1015s− 1

https://dl.doubtnut.com/l/_fngatjqg3WJz
https://dl.doubtnut.com/l/_bfGWtEw0AjIj


D. 

Answer: A

Watch Video Solution

8.05 × 1013s− 1

51. The orbital configuration of  is . The

number of unpaired electrons in  is

A. 3

B. 2

C. 1

D. 4

Answer: A

.24 Cr 3d54s1

Cr3 + (g)

https://dl.doubtnut.com/l/_bfGWtEw0AjIj
https://dl.doubtnut.com/l/_Ghe47lNK21B5


Watch Video Solution

52. When  orbital is complete, the new electron will enter

the

A. 4p-orbital

B. 4s-orbital

C. 4d-orbital

D. None of these

Answer: A

Watch Video Solution

3d

https://dl.doubtnut.com/l/_Ghe47lNK21B5
https://dl.doubtnut.com/l/_0F1EngMdn06p


53. When 3p orbitals are completely filled then, the newly

entering electron goes into

A. 4p

B. 3d

C. 4s

D. 4d

Answer: C

Watch Video Solution

54. How many electrons in  have  ?

A. 1

.19 K n = 3, l = 0

https://dl.doubtnut.com/l/_rEm0lXPL1q6W
https://dl.doubtnut.com/l/_GYOTnUU96pXs


B. 2

C. 4

D. 3

Answer: B

Watch Video Solution

55. The maximum number of 3d electrons having spin

quantum number  are

A. 10

B. 14

C. 5

D. any number from 1 to 10

s = +
1

2

https://dl.doubtnut.com/l/_GYOTnUU96pXs
https://dl.doubtnut.com/l/_nibr2sQH8l0S


Answer: C

Watch Video Solution

56. The maximum number of electrons in s, p and d-

subshell are

A. 2 in each

B. 2, 4 and 6

C. 2, 6 and 10

D. 2, 6 and 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nibr2sQH8l0S
https://dl.doubtnut.com/l/_u3VHcXRepOFA


57. In which of the following all the electrons are paired?

A. Atom with atomic number 22

B. Nitride ion

C. Atom with configuration 

D. In all

Answer: B

Watch Video Solution

3s23p4

58. In an atom which has 2K, 8L, 8M and 2N electrons in the

ground state, the total number of electrons having l=1 are

A. 20

https://dl.doubtnut.com/l/_t0Gilb7shLDM
https://dl.doubtnut.com/l/_Gl8EzJstYkP7


B. 8

C. 12

D. 10

Answer: C

Watch Video Solution

59. The valence electrons of  lie in the

A. K shell

B. M shell

C. N shell

D. both M and N shell

.29 Cu

https://dl.doubtnut.com/l/_Gl8EzJstYkP7
https://dl.doubtnut.com/l/_fEL4W8IE8nAu


Answer: C

Watch Video Solution

60. The number of electrons that can be accommodated in

 orbital is

A. 10

B. 4

C. 1

D. 2

Answer: D

Watch Video Solution

dxy

https://dl.doubtnut.com/l/_fEL4W8IE8nAu
https://dl.doubtnut.com/l/_IW8hXt5e80yo


61. Th electroniv configuration of Mn can be written as

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ar]4s2

[Ar]3d6, 4s2

[Ar]3d5, 4s1

[Ar]3d5, 4s2

62. The penultimate shell of Francium (Z = 87) has the

configuration

A. 2s22p6

https://dl.doubtnut.com/l/_7psYJIgUy8gJ
https://dl.doubtnut.com/l/_cPzm3F4oLkgw


B. 

C. 

D. 

Answer: B

Watch Video Solution

6s26p6

4s24p64d104f 14

5s25p65d10

63. Which of the following sets of quantum number is not

possible for 23rd electron of Cr (At. no. 24)?

A. 3, 2, +2, -1/2

B. 3, 2, +2, +1/2

C. 3, 2, +1, +1/2

D. 3, 1, +1, +1/2

https://dl.doubtnut.com/l/_cPzm3F4oLkgw
https://dl.doubtnut.com/l/_bjQUfyf6cV00


Answer: B

Watch Video Solution

64. How many quantum numbers are required to define the

electron in atom?

A. two

B. three

C. one

D. four

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bjQUfyf6cV00
https://dl.doubtnut.com/l/_SxuELQxVQ0er


65. Which d-orbital does not have four lobes?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dx2 −y2

dxy

dyz

d2
z

66. The total number of electrons present in any main

energy level can be calculated from

A. (2l + 1)

https://dl.doubtnut.com/l/_obdyC24KkDb0
https://dl.doubtnut.com/l/_3s2EvS1MYRKQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

2n2

(2n + 1)

n2

67. Which of the following sets of quantum number is

allowable

A. 

B. 

C. 

D. 

n = 2, l = 1, m = 0, s = + 1/2

n = 2, l = 2, m = − 1, s = − 1/2

n = 2, l = − 2, m = 1, s = + 1/2

n = 2, l = 1, m = 0, s = 0

https://dl.doubtnut.com/l/_3s2EvS1MYRKQ
https://dl.doubtnut.com/l/_nhnDJO9r6S0U


Answer: A

Watch Video Solution

68. Which shape is associated with the orbital designated

by ?

A. spherical

B. tetrahedral

C. dumb-bell

D. pyramidal

Answer: C

Watch Video Solution

n = 2, l = 1

https://dl.doubtnut.com/l/_nhnDJO9r6S0U
https://dl.doubtnut.com/l/_NOLE4NQIZU7g


69. Which of the following sets of quantum numbers is

impossible arrangement?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n = 3, m = − 2, s = +
1

2

n = 4, m = 3, s = +
1

2

n = 5, m = 2, s = −
1

2

n = 3, m = − 3, s = −
1

2

70. Which of the following statement about quantum

numbers is wrong ?

https://dl.doubtnut.com/l/_W7gujpgrZjAi
https://dl.doubtnut.com/l/_Wh7bR046xOHd


A. If the value of l = 0, the electron distribution is

spherical

B. The shape of the orbital is given by subsidiary

quantum number

C. The Zeeman's effect is explained by magnetic

quantum number

D. The spin quantum number gives the orientations of

electron cloud.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Wh7bR046xOHd


71. The shape of the orbital with the value of l = 2 and m = 0

is

A. spherical

B. dumb-bell

C. trigonal planar

D. square planar.

Answer: B

Watch Video Solution

72. The total number of subshells in nth main energy level

are

https://dl.doubtnut.com/l/_PGyvRxCWXtFL
https://dl.doubtnut.com/l/_2E96h6UkpnPj


A. 

B. 

C. 

D. n

Answer: D

Watch Video Solution

n2

2n2

(n − 1)

73. Which of the following sets of quantum number is not

possible?

A. 

B. 

C. 

n = 4, l = 1, m = 0, s = +
1

2

n = 4, l = 3, m = − 3, s = −
1

2

n = 4, l = 1, m = + 2, s =
−1

2

https://dl.doubtnut.com/l/_2E96h6UkpnPj
https://dl.doubtnut.com/l/_zFf6ONmPC9AG


D. 

Answer: C

Watch Video Solution

n = 4, l = 0, m = 0, s =
−1

2

74. The possible sub-shell in  energy shell are :

A. s,p,d

B. s,p,d,f

C. s, p

D. s only

Answer: A

Watch Video Solution

n = 3

https://dl.doubtnut.com/l/_zFf6ONmPC9AG
https://dl.doubtnut.com/l/_RWr5TSkAyq3c


75. If the value of m for an electron is +3. It may be found in

A. 4s-orbitals

B. 4p-orbitals

C. In any f-orbital

D. In any d-orbital

Answer: C

Watch Video Solution

76. The two electron have the following sets of quantum

number 

 
X : 3, 2, − 2, + 1/2

https://dl.doubtnut.com/l/_RWr5TSkAyq3c
https://dl.doubtnut.com/l/_V9nxg85rrvQn
https://dl.doubtnut.com/l/_ff9ZJqvUuvg2


 


What is true of the following

A. X and Y have same energy

B. X and Y have unequal energy

C. X and Y represent same electron

D. None of the statements is correct

Answer: B

Watch Video Solution

Y : 3, 0, 0, + 1/2

77. Which of the following orbital does not make sense ?

A. 3d

https://dl.doubtnut.com/l/_ff9ZJqvUuvg2
https://dl.doubtnut.com/l/_w3PdMEiVNiT1


B. 3f

C. 5p

D. 7s

Answer: B

Watch Video Solution

78. If the value of azimuthal quantum number of an

electron is 2, then which of the following values of

magnetic quantum numbers is not permissible,

A. 3

B. 2

C. 0

https://dl.doubtnut.com/l/_w3PdMEiVNiT1
https://dl.doubtnut.com/l/_NVGRiOxkUaD4


D. 1

Answer: A

Watch Video Solution

79. The quantum number which is related to the orbital

angular momentum is

A. subsidiary quantum number

B. principal quantum number

C. magnetic quantum number

D. spin quantum number

Answer: A

https://dl.doubtnut.com/l/_NVGRiOxkUaD4
https://dl.doubtnut.com/l/_GD22cJIt3atK


Watch Video Solution

80. The total number of orbitals in fifth energy level should

theoretically be

A. 10

B. 25

C. 15

D. 18

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GD22cJIt3atK
https://dl.doubtnut.com/l/_KKfAGmrxmR3u


81. The value of azimuthal quantum number for electrons

present in 6p-orbitals is

A. 2

B. 1

C. any of the values between 0 and 5

D. 0

Answer: B

Watch Video Solution

82. Which of the following is the correct set of quantum

numbers for the outer shell electrons of .21 Sc

https://dl.doubtnut.com/l/_lJnBShsn2II8
https://dl.doubtnut.com/l/_qxZz9At6rslk


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3, 2, 0, +
1

2

4, 0, 0, +
1

2

3, 0, 0, −
1

2

40, − 1, +
1

2

83. Which of the following properties of an element is a

whole number ?

A. Atomic mass

B. Mass number

C. Atomic size

https://dl.doubtnut.com/l/_qxZz9At6rslk
https://dl.doubtnut.com/l/_1ODzvQWUcpxu


D. Ionisation potential

Answer: B

Watch Video Solution

84. Which of the following scientists developed equation E

= hv? (v= frequency)

A. Einstein

B. Schrodinger

C. Max Planck

D. Newton

Answer: C

https://dl.doubtnut.com/l/_1ODzvQWUcpxu
https://dl.doubtnut.com/l/_DuZ2CH6aiejf


Watch Video Solution

85. An isotone of  is 


(i) 


(ii) 


(iii) 


(iv) 

A. only  & 

B. only  & 

C. only  & 

D.  & 

Answer: C

Watch Video Solution

32Ge
76

32Ge
77

33As
77

34Se
77

34Se
78

(i) (ii)

(ii) (iii)

(ii) (iv)

(ii), (iii) (iv)

https://dl.doubtnut.com/l/_DuZ2CH6aiejf
https://dl.doubtnut.com/l/_rlbx1WTWQqVU


86. The fundamental particle which are responsible for

keeping nucleons together is

A. Meson

B. Antiproton

C. Positron

D. Electron

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rlbx1WTWQqVU
https://dl.doubtnut.com/l/_9xLmYHhhHbHj


87. The atoms in which X are equal are called isotones.

Here, X is

A. atomic number

B. mass number

C. electron

D. neutrons

Answer: D

Watch Video Solution

88. An atom which does not have any neutron is

A. deutrium

https://dl.doubtnut.com/l/_y5nX4UJ6M2IX
https://dl.doubtnut.com/l/_3p6P6a2k8GxE


B. tritium

C. helium

D. hydrogen

Answer: D

Watch Video Solution

89.  differ from each other in number of

A. electrons

B. photons

C. protons

D. nucleons

.14
6 C, .12

6 C

https://dl.doubtnut.com/l/_3p6P6a2k8GxE
https://dl.doubtnut.com/l/_CyLi4Zs6Sr6A


Answer: D

Watch Video Solution

90. Atom consist of electrons , protons and neutrons . If the

mass attributed to neutron were halved and that

attributed to the electrons were doubled , the atomic mass

of  would be approximately :

A. remain approximately the same

B. be doubled

C. approximately be halved

D. be reduced by approximately 25%

Answer: D

6C 12

https://dl.doubtnut.com/l/_CyLi4Zs6Sr6A
https://dl.doubtnut.com/l/_2tlgmFWCFBG4


Watch Video Solution

91. Assuming the velocity to be same , which sub-atomic

particle possesses smallest de-Broglie wavelength :

A. An electron

B. A proton

C. An -particle

D. All will have same value of wavelength

Answer: C

Watch Video Solution

α

https://dl.doubtnut.com/l/_2tlgmFWCFBG4
https://dl.doubtnut.com/l/_F0DS1mh90ny9


92. Ne,  and  have the same

A. mass number

B. number of nucleons

C. number electrons

D. number of protons

Answer: C

Watch Video Solution

Na+ F −

93. Which of the following species has more number of

electrons in comparison with the neutrons?

A. Al3 +

https://dl.doubtnut.com/l/_GFp6vwyRHkfb
https://dl.doubtnut.com/l/_PloTPsdyQwyJ


B. 

C. 

D. C.

Answer: B

Watch Video Solution

O2 −

F −

94. The number of spherical nodes in  orbital is

A. 4

B. 

C. 2

D. 3

4s

∞

https://dl.doubtnut.com/l/_PloTPsdyQwyJ
https://dl.doubtnut.com/l/_MhuKiOjNOVnI


Answer: D

Watch Video Solution

95. Which of the following orbitals does not have the

angular node ?

A. -orbital

B. -orbital

C. -orbital

D. 1s-orbital

Answer: D

Watch Video Solution

px

d2
z

pv

https://dl.doubtnut.com/l/_MhuKiOjNOVnI
https://dl.doubtnut.com/l/_BP9dESY9llFe


96. Which of the following do not travel with the speed of

light?

A. Gamma rays

B. X-rays

C. de-Broglie waves

D. Both (B) and (C)

Answer: C

Watch Video Solution

97. How many electron in an atom with atomic number 

can have  ?

105

(n + l) = 8

https://dl.doubtnut.com/l/_aCvh47VmguCu
https://dl.doubtnut.com/l/_CfXK2RXT7FOU


A. 30

B. 17

C. 15

D. Unpredictable

Answer: B

Watch Video Solution

98. The haviest subatomic particle is

A. neutron

B. positron

C. electron

https://dl.doubtnut.com/l/_CfXK2RXT7FOU
https://dl.doubtnut.com/l/_vabsZ1PWStqI


D. proton

Answer: A

Watch Video Solution

99. The size of the nucleus is approximately

A. 1/100th of atom

B. 1/1000th of the atom

C. 1/10000th of the atom

D. 1/100000th of the atom

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vabsZ1PWStqI
https://dl.doubtnut.com/l/_f3qUHk4FTkqq


100. Wavelength of Radiowaves is :

A.  microwaves

B.  microwaves

C.  infrared waves

D.  ultra violet rays.

Answer: B

Watch Video Solution

<

>

≤

≤

101. The line spectrum of two elements is not identical

because

https://dl.doubtnut.com/l/_f3qUHk4FTkqq
https://dl.doubtnut.com/l/_xVn9ur9X9Dfp
https://dl.doubtnut.com/l/_bDm49cRQ691K


A. they donot have same number of neutrons

B. they have dissimilar mass number

C. they have different energy level schemes

D. they have different number of valence electrons

Answer: C

Watch Video Solution

102. Bohr's atomic model can expalin the spectrum of

A. hydrogen atoms only

B. atoms or ions which are unielectron

C. atoms or ions which have only two electrons

https://dl.doubtnut.com/l/_bDm49cRQ691K
https://dl.doubtnut.com/l/_1h1IuJUVSzRH


D. hydrogen molecule.

Answer: B

Watch Video Solution

103. Correct set of four quantum numbers for the valence

(outermost) electron of rubidium  is

A. 

B. 

C. 

D. 

Answer: A

(Z = 37)

5, 0, 0, +
1

2

4, 3, 2, −
1

2

5, 1, 0, −
1

2

5, 1, 1, +
1

2

https://dl.doubtnut.com/l/_1h1IuJUVSzRH
https://dl.doubtnut.com/l/_OVvidrEetF2Q


Watch Video Solution

104. The electronic configuration of a dipositive ion  is

2, 8, 14 and its mass number is 56. The number of netrons

present is

A. 32

B. 42

C. 30

D. 34

Answer: C

Watch Video Solution

M 2 +

https://dl.doubtnut.com/l/_OVvidrEetF2Q
https://dl.doubtnut.com/l/_IvTYXr5CkUWa


105. The transition of electron from n = 3 to n = 1 in H atom

produces

A. Emission spectrum

B. Absorption spectrum

C. Paschen line

D. Pfund line.

Answer: A

Watch Video Solution

106. The number of degenerate f-orbitals in any quantum

level is

https://dl.doubtnut.com/l/_s8kDKdC3rtn4
https://dl.doubtnut.com/l/_0nrr7FKvTmGl


A. 7

B. 14

C. 4

D. 10

Answer: A

Watch Video Solution

107. The magnatic quantum number for the valence

electron of Caesium (atomic number 55) is

A. 3

B. 0

C. −3

https://dl.doubtnut.com/l/_0nrr7FKvTmGl
https://dl.doubtnut.com/l/_8eMonhZdDeR1


D. Any number between  to - .

Answer: B

Watch Video Solution

+3 3

108. Which of the following is wrong?

A. Cathode rays have constant e/m ratio

B. e/m ratio of anode rays is not constant

C. e/m ratio of protons is not constant

D. e/m ratio of -particles is constant.

Answer: C

Watch Video Solution

β

https://dl.doubtnut.com/l/_8eMonhZdDeR1
https://dl.doubtnut.com/l/_3rtofR4KdfiY


109. In excited H atom, when electron drop from 

to , there is emission of

A. U.V. light

B. Visible light

C. I.R. light

D. Radio waves.

Answer: A

Watch Video Solution

n = 4, 5, 6

n = 1

110. An electron of mass m and charge -e moves in circular

orbit of radius r round the nucleus of charge +Ze in

https://dl.doubtnut.com/l/_3rtofR4KdfiY
https://dl.doubtnut.com/l/_qopWo0ZhyTmi
https://dl.doubtnut.com/l/_zay8YgCMinNm


unielectron system. In CGS system the potential energy of

electron is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+Ze2

r2

−Ze2

r

Ze2

2r

−
Ze2

2r

111. When two electron are placed in two degenerate

orbitals of the atom , the energy is lower if their spin is

parallel .The statement is based upon

https://dl.doubtnut.com/l/_zay8YgCMinNm
https://dl.doubtnut.com/l/_JGqhKugyoSnE


A. Pauli's exclusion principle

B. Bohr's rule

C. Hund's rule

D. Aufbau principle

Answer: C

Watch Video Solution

112. Which value of l will represent double dumb-bell shape

of the orbital?

A. 0

B. 1

C. 2

https://dl.doubtnut.com/l/_JGqhKugyoSnE
https://dl.doubtnut.com/l/_PQdjxTvcW2s0


D. l does not give shape of orbital.

Answer: C

Watch Video Solution

113. An atom has 2K, 8 L, 11 M, 2N electrons, the total

number of s-electrons will be

A. 6

B. 8

C. 10

D. 4

Answer: B

https://dl.doubtnut.com/l/_PQdjxTvcW2s0
https://dl.doubtnut.com/l/_QKX5cyTirM5V


Watch Video Solution

114. The total number of orbitals in energy level

represented by n = 5 are

A. 16

B. 50

C. 30

D. 25

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QKX5cyTirM5V
https://dl.doubtnut.com/l/_bXwhFfEZbg5c


115. In an atom with 2K, 6L, 1M and 2N eletrons the number

of electrons with m = 0,  are

A. 2

B. 7

C. 8

D. 16

Answer: B

View Text Solution

s = +
1

2

116. For an orbital with n = 2, l = 1, m = 0 there is/are

A. one planar node

https://dl.doubtnut.com/l/_Cn11UUmJxG5K
https://dl.doubtnut.com/l/_EiIA6VZc8MQ2


B. one region of maximum probability

C. two lobes of same size about the nucleus

D. all the above statements are correct

Answer: D

Watch Video Solution

117. Which of the following orbitals is cyclindrically

symmetrical about x-axis?

A. -orbital

B. -orbital

C. -orbital

D. -orbital

pz

py

px

dxz

https://dl.doubtnut.com/l/_EiIA6VZc8MQ2
https://dl.doubtnut.com/l/_CiBerGjsZchY


Answer: C

Watch Video Solution

118. For a sub-shell with azimuthal quantum number 'l', the

total values of magnetic quantum number m can be related

to l as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

m = (l + 2)

m = (2l2 + 2)

l =
(m − 1)

2

l = 2m + 1

https://dl.doubtnut.com/l/_CiBerGjsZchY
https://dl.doubtnut.com/l/_Fg0I6GQP03di


119. An orbital with  is

A. symmetrical about X-axis only

B. symmetrical about Y-axis only

C. spherical symmetrical

D. unsymmetrical

Answer: C

Watch Video Solution

l = 0

120. Which of the following orbitals does not have angular

node?

https://dl.doubtnut.com/l/_Fg0I6GQP03di
https://dl.doubtnut.com/l/_9UC1f6sov3ly
https://dl.doubtnut.com/l/_uyBNNyv7Fdi6


A. 2s

B. 2p

C. 3p

D. 3d

Answer: A

Watch Video Solution

121. Which orbital notation does not have spherical node?

A. n = 2, l = 0

B. n = 2, l = 1

C. n = 3, l = 0

https://dl.doubtnut.com/l/_uyBNNyv7Fdi6
https://dl.doubtnut.com/l/_tq7fkyXItmNZ


D. n = 3, l = 0

Answer: B

Watch Video Solution

122. In the emission of photo-electrons, the number of

photo-electrons emitted per unit time depends upon the

A. Energy of incident radiations

B. Frequency of incident radiations

C. Intensity of incident radiations

D. None of the above

Answer: C

https://dl.doubtnut.com/l/_tq7fkyXItmNZ
https://dl.doubtnut.com/l/_WssRWkkD2nEj


Watch Video Solution

123. The kinetic energy of the photoelectrons does not

depends upon

A. intensity of incident radiation

B. frequency of incident radiations

C. wavelength of incident radiation

D. wave number of incident radiation.

Answer: A

Watch Video Solution

124. The units for equation  areλ =
h

mv

https://dl.doubtnut.com/l/_WssRWkkD2nEj
https://dl.doubtnut.com/l/_p1NQiD2zm4G4
https://dl.doubtnut.com/l/_iBMXxYUneHdu


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

kgm2s− 1

kgms− 1

kgms− 1

ms− 1

kg2m2s− 2

kgm2s− 1

kg2ms− 3

kgm

125. The momentum of a photon of frequency

 is nearly

A. 

B. 

C. 

50 × 1017s− 1

1.1 × 10− 23kgms− 1

3.33 × 10− 43kgms− 1

2.27 × 10− 40kgms− 1

https://dl.doubtnut.com/l/_iBMXxYUneHdu
https://dl.doubtnut.com/l/_TTEfphialBBb


D. None of these

Answer: A

Watch Video Solution

126. A cricket ball of  moving with a velocity of

. The wavelength associated with its motion is

A. 

B. 

C. 

D. 

Answer: C

0.5kg

100ms− 1

1/100cm

6.6 × 10− 34m

1.32 × 10− 35m

6.6 × 10− 28m

https://dl.doubtnut.com/l/_TTEfphialBBb
https://dl.doubtnut.com/l/_YhrwK3MJtWXm


Watch Video Solution

127. A near U.V. photon of 300 nm is absorbe by a gas is red

then remitted as two photons. One photon is red with

wavelength 760 nm. Hence wavelength of the second

photon is

A. 460 nm

B. 1060 nm

C. 496 nm

D. 300 nm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YhrwK3MJtWXm
https://dl.doubtnut.com/l/_pLVbiBEhKfvL


128. The transitions  ion that would have the same

wavelength as the first Lyman line in hydrogen spectrum is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

He⊕

2 → 1

5 → 3

4 → 2

6 → 4

129. The work function of a metal is . If radiation of 

 fall on the metal then the kinetic energy of the

4.2eV

2000Ã

https://dl.doubtnut.com/l/_hK1SoJXwJJN1
https://dl.doubtnut.com/l/_KCCsr6iiw1FW


fastest photoelectron is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.6 × 10− 19J

16 × 1010J

3.2 × 10− 19J

6.4 × 10− 10J

130. A certain metal when irradiated to light

 emits photoelectrons with twice

kinetic energy as did photoelectrons when the same metal

(v = 3.2 × 1016Hz)

https://dl.doubtnut.com/l/_KCCsr6iiw1FW
https://dl.doubtnut.com/l/_2k4NIj4QwXHV


is irradiation by light . The 

(Threshold frequency) of the metal is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(v = 2.0 × 1016Hz) v0

1.2 × 1014Hz

8 × 1015Hz

1.2 × 1016Hz

4 × 1012Hz

131. The ratio of the radii of the first three Bohr orbit in H

atom is

A. 1: :
1

2

1

3

https://dl.doubtnut.com/l/_2k4NIj4QwXHV
https://dl.doubtnut.com/l/_8YeKRWvwKfNL


B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 2: 3

1: 4: 9

1: 8: 27

132. An electron with velocity  is found to have a certain

value of de Brogle wavelength .The velocity that the

muetron should process to have the same de Broglie

wavelength is

A. v

B. 

v

v

1840

https://dl.doubtnut.com/l/_8YeKRWvwKfNL
https://dl.doubtnut.com/l/_FMUGL6DVoKRn


C. 

D. 

Answer: B

Watch Video Solution

1840v

1840
v

133. The momentum of a particle associated with de-

Broglie's wavelength of  is

A. 

B. 

C. 

D. 

6Å

1.1 × 10− 24kgms− 1

1.1 × 1034kgms− 1

39.6 × 10− 34kgms− 1

39.6 × 10− 24kgms− 1

https://dl.doubtnut.com/l/_FMUGL6DVoKRn
https://dl.doubtnut.com/l/_SUwispCgOate


Answer: A

Watch Video Solution

134. Frequency of matter wave is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(K. E. ) /2h

2. (K. E. ) /h

(K. E. /h)

λ

https://dl.doubtnut.com/l/_SUwispCgOate
https://dl.doubtnut.com/l/_LO5QT6BTKYjQ
https://dl.doubtnut.com/l/_auKfeDEYXcEx


135. If threshold wavelength  for ejection of electron

from metal is 330 nm, then work function for the

photoelectron emission is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(λ0)

1.2 × 10− 18J

1.2 × 10− 20J

6 × 10− 19J

6 × 10− 12J

136. The mass of one mole of electron is

A. 9.1 × 10− 28g

https://dl.doubtnut.com/l/_auKfeDEYXcEx
https://dl.doubtnut.com/l/_G7zs1ccvtPQ7


B. 

C. 

D. 

Answer: B

Watch Video Solution

0.55mg

9.1 × 10− 24g

1.008mg

137. In two H atoms A and B the electrons move around the

nucleus in circular orbits of radius r and 4r respectively. The

ratio of the times taken by them to complete one

revolution is

A. 

B. 

1: 4

1: 2

https://dl.doubtnut.com/l/_G7zs1ccvtPQ7
https://dl.doubtnut.com/l/_DojSPQtcDG35


C. 

D. 

Answer: C

Watch Video Solution

1: 8

2: 1

138. Which of the following species will produce the

shortest wavelength for the transition  to  ?

A. H atom

B. D atom

C.  ion

D.  ion

n = 2 n = 1

He+

Li2 +

https://dl.doubtnut.com/l/_DojSPQtcDG35
https://dl.doubtnut.com/l/_XWHSz7ROvJd5


Answer: D

Watch Video Solution

139. The energy required to dislodge electron from excited

isolated H-atom  is

A. 

B. 

C.  and 

D. 

Answer: D

Watch Video Solution

(IE1 = 13.6eV )

= 13.6eV

> 13.6eV

< 13.6 > 3.4eV

≤ 3.4eV

https://dl.doubtnut.com/l/_XWHSz7ROvJd5
https://dl.doubtnut.com/l/_c1yDXJR0nQpv


140. Velocity of electron in the first orbit of H-atom as

compared to that of velocity of light is approximately

A. 

B. 

C. 

D. same

Answer: B

Watch Video Solution

th
1

1000

th
1

137

th
1

10

141. How many electron in copper atom  have (.29 Cu)

(n + l) = 4

https://dl.doubtnut.com/l/_sk1n0zTlkgzc
https://dl.doubtnut.com/l/_XlKtMZ7vZCOV


A. 6

B. 7

C. 8

D. 4

Answer: B

Watch Video Solution

142. In any subshell, the maximum number of electrons

having same value of spin quantum number is :

A. 

B. 

C. 

√l(l + 1)

l + 2

2l + 1

https://dl.doubtnut.com/l/_XlKtMZ7vZCOV
https://dl.doubtnut.com/l/_yxAy4hnDsCKJ


D. 

Answer: C

Watch Video Solution

4l + 2

143. For a certain particle, it is found that uncertainty in

velocity is reciprocal of uncertainty in position. This implies

that

A. Mass of the particle is  unity

B. Mass of the particle is unity

C. Mass of the particle  h

D. Mass of the particle .

>

≤

≥ h/4π

https://dl.doubtnut.com/l/_yxAy4hnDsCKJ
https://dl.doubtnut.com/l/_HNgVuzrpKSh2


Answer: D

Watch Video Solution

144. How many electron in K (Z =19) have n = 4, l = 0 ?

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HNgVuzrpKSh2
https://dl.doubtnut.com/l/_z3x2LLrd2ZwI
https://dl.doubtnut.com/l/_du3bwDRRxZPc


145. Suggest two transitions in hydrogen spectrum for

which the number ratio is 108:7

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 → 1, 3 → 1

2 → 1, 4 → 3

2 → 1, 5 → 4

2 → 1, 3 → 1

146. The ratio of kinetic energy and potential energy of an

electron in a Bohr orbit of a hydrogen  like species is 

A. 

− :

1: 2

https://dl.doubtnut.com/l/_du3bwDRRxZPc
https://dl.doubtnut.com/l/_0fo5ZImn7nSL


B. 

C. 

D. 

Answer: B

Watch Video Solution

−1: 2

1: 1

−1: 1

147. For particles having same K.E., the de-Broglie

wavelength is

A. Directly proportional to its velocity

B. Inversely proportionals to its velocity

C. Independent of its mass and velocity

D. Unpredictable

https://dl.doubtnut.com/l/_0fo5ZImn7nSL
https://dl.doubtnut.com/l/_gF1Qu1rIo69x


Answer: A

Watch Video Solution

148. In one joule of energy, the number of photons with

have number equal to x is

A. 

B. 

C. hcx

D. 

Answer: A

Watch Video Solution

(hcx) − 1

x(hc) − 1

hc(x) − 1

https://dl.doubtnut.com/l/_gF1Qu1rIo69x
https://dl.doubtnut.com/l/_qqecE97e9inF


149. Which of the expression given below gives IE of H atom

in terms of Rydberg's constant ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(RH)

RH . hc

RHNA. hc

RH(2hc)

RH . c

150. One unpaired electron causes magnetic moment of 1.1

BM. The magnetic moment of  is_ (26)Fe2 +

https://dl.doubtnut.com/l/_s5trqLqkAMCT
https://dl.doubtnut.com/l/_lbawMgwEiF3l


A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

4.4

5.5

2.2

151. If numerical value of mass and velocity are equal then

de Broglie wavelength in terms of K.E. is

A. 

B. 

C. Both are correct

mh

2K. E.

vh

2K. E

https://dl.doubtnut.com/l/_lbawMgwEiF3l
https://dl.doubtnut.com/l/_RudbUBO4gMdP


D. None is correct

Answer: C

Watch Video Solution

152. If uncertainty in position are velocity are equal the

uncertainty in momentum will be

A. 

B. 

C. 

D. 

Answer: A

√
1

2
mh

π

√
1

2
h

πm

h

4πm

mh

4π

https://dl.doubtnut.com/l/_RudbUBO4gMdP
https://dl.doubtnut.com/l/_w7o4BfbDgAOX


Watch Video Solution

153. Number of waves made by a Bohr electron in one

complete in its fourth orbit is

A. 2

B. 3

C. 4

D. Infinite.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_w7o4BfbDgAOX
https://dl.doubtnut.com/l/_TNBR9GP4Bb2W


154. Which electronic transition in a hydrogen atom

releases the greatest amount of energy?

A. n = 1 to n = 2

B. n = 2 to n = 4

C. n = 3 to n = 6

D.  to n = 1

Answer: A

Watch Video Solution

n = ∞

155. how fast is an electron moving if it has a wavelength

equal to the distance traveled in one second ?

https://dl.doubtnut.com/l/_SM00BYTyQWcb
https://dl.doubtnut.com/l/_14eypV8Qh1nC


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√h/m

√m/h

√h/p

√h/2(K. E. )

156. If uncertainties in the measurement of position and

momentum are equal, then uncertainty in the

measurement of velocity is

A. 

B. 

√
1

2
mh

π

√
1

2π
h

m

https://dl.doubtnut.com/l/_14eypV8Qh1nC
https://dl.doubtnut.com/l/_Wc7irlt16XLH


C. 

D. None of these

Answer: C

Watch Video Solution

√
1

2m
h

π

157. Energy equivalent of  is

A.  per photon

B.  photon

C.  photon

D. All are correct

Answer: D

10.00cm− 1

19.9 × 10− 23J

28.6 × 10− 3Kcalmol− 1

12.0 × 10− 2kJmol− 1

https://dl.doubtnut.com/l/_Wc7irlt16XLH
https://dl.doubtnut.com/l/_WeEWpoBiZOpy


Watch Video Solution

158. The ratio of energy of the electron in ground state of

hydrogen to the electron in first excited state of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Be3 +

1: 4

1: 8

1: 16

16: 1

https://dl.doubtnut.com/l/_WeEWpoBiZOpy
https://dl.doubtnut.com/l/_vYS8NakOipb2


159. The shortest wavelength of H-atom in Lyman series is x,

then longest wavelength in Balmer series of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

He+

9x

5

36x

5

x

4

5x

9

160. The radius of first Bohr orbit is x, then de-Broglie

wavelength of electron in 3rd orbit is nearly

https://dl.doubtnut.com/l/_0iOxQ8g0jQFf
https://dl.doubtnut.com/l/_Hp9LmovpDJk6


Revision Questions

A. 

B. 

C. 9x

D. 

Answer: B

Watch Video Solution

2πy

6πy

x/3

1. Whith increasing principal quantum number, the energy

difference between adjacent energy levels in H-atom:

A. decreases

https://dl.doubtnut.com/l/_Hp9LmovpDJk6
https://dl.doubtnut.com/l/_fjhEzDqnhRWE


B. increases

C. remains constant

D. decreases for low value of Z and increases for higher

value of Z.

Answer: A

Watch Video Solution

2. Indicate which electronic configuration amongest the

following correctly represent SULPHUR atom ?

A. 

B. 

C. 

1s22s22p63s23p23d2

1s22s22p63s23p24s2

1s22s22p63s23p64s14p1

https://dl.doubtnut.com/l/_fjhEzDqnhRWE
https://dl.doubtnut.com/l/_nPTYHEVLboeV


D. 

Answer: D

Watch Video Solution

1s22s22p63s23p4

3. The credit of discovering neutron goes to

A. Rutherford

B. Langmuir

C. Chadwick

D. Austen

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nPTYHEVLboeV
https://dl.doubtnut.com/l/_5ildHoreV6Lj


4. Cathode rays are

A. Electromagnetic waves

B. Radiations

C. Stream of -particles

D. Stream of electrons.

Answer: D

Watch Video Solution

α

5. The mass of the neutron is of the order of

A. 10− 23kg

https://dl.doubtnut.com/l/_5ildHoreV6Lj
https://dl.doubtnut.com/l/_ACg0fJomXq9y
https://dl.doubtnut.com/l/_vTCwn8hPMtZ7


B. 

C. 

D. 

Answer: D

Watch Video Solution

10− 24kg

10− 26kg

10− 27kg

6. The electrons present in K-shell of the atom will differ in

A. principal quantum number

B. azimuthal quantum number

C. magnetic quantum number

D. spin quantum number

https://dl.doubtnut.com/l/_vTCwn8hPMtZ7
https://dl.doubtnut.com/l/_y3ELrzyxz7j2


Answer: D

Watch Video Solution

7. The magnetic quantum number specifies.

A. size of the orbital

B. spin angular momentum

C. orbital angular momentum

D. spatial orientation of orbital

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_y3ELrzyxz7j2
https://dl.doubtnut.com/l/_YA9tTEjSYYjC
https://dl.doubtnut.com/l/_ILFRhwGgFQ7J


8. The ratio of ionization energy of  and  is.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H Be+ 3

1: 1

1: 3

1: 9

1: 16

9. No two electrons in an atom will have all the four

quantum numbers same. This statement is known as

A. Exclusion principle

https://dl.doubtnut.com/l/_ILFRhwGgFQ7J
https://dl.doubtnut.com/l/_OSLvrV58y1Fx


B. Uncertainty principle

C. Hund's rule

D. Aufbau principle

Answer: A

Watch Video Solution

10. The maximum number of electrons that can be taken by

a subshell with  is

A. 14

B. 10

C. 8

D. 4

l = 3

https://dl.doubtnut.com/l/_OSLvrV58y1Fx
https://dl.doubtnut.com/l/_dxwYZyLcFgjz


Answer: A

Watch Video Solution

11. The number of electrons in the M shell of the element

with atomic number 24 is

A. 24

B. 12

C. 13

D. 8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dxwYZyLcFgjz
https://dl.doubtnut.com/l/_W6lNYZvWmL8n


12. The value of Planck's constant is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6.6256 × 10− 27ergs

66.256 × 10− 27ergs

6.02 × 10− 15ergs

3.01 × 10− 23ergs

13. Two electrons occupying the same orbital are

distinguished by :

A. principal quantum number

https://dl.doubtnut.com/l/_11CvagIzK3YE
https://dl.doubtnut.com/l/_2A2x4oDdIW4u


B. azimuthal quantum number

C. magnetic quantum number

D. spin quantum number

Answer: D

Watch Video Solution

14. The symbol of the element whose atoms have the outer

most electronic configuration  is

A. N

B. Li

C. P

D. Na

2s22p3

https://dl.doubtnut.com/l/_2A2x4oDdIW4u
https://dl.doubtnut.com/l/_xX7mICgx4Qfq


Answer: A

Watch Video Solution

15. The principal quantum number, n describes

A. Shape of orbital

B. Sub-shell of electron

C. Main energy shell of electron

D. Spin of electron

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xX7mICgx4Qfq
https://dl.doubtnut.com/l/_bUQLy3SjxkYy
https://dl.doubtnut.com/l/_NAIPrrLVWZWR


16. The quantum numbers for the outer electrons of an

atom are given by 

A. Lithium

B. Beryllium

C. Hydrogen

D. Boron

Answer: A

Watch Video Solution

n = 2, l = 0, m = 0, s = + 1/2

17. When electrons revolve in stationary orbits,

A. there is no change in energy level

https://dl.doubtnut.com/l/_NAIPrrLVWZWR
https://dl.doubtnut.com/l/_NGqQb0hvQDEb


B. they become stationary

C. they are gaining kinetic energy

D. there is increase in energy

Answer: A

Watch Video Solution

18.  contains

A. 22 protons

B. 11 neutrons

C. 22 neutrons

D. None of these

.22
11 Na

https://dl.doubtnut.com/l/_NGqQb0hvQDEb
https://dl.doubtnut.com/l/_I774Z8sQ0hLH


Answer: B

Watch Video Solution

19. Which quantum number is sufficient to describe the

electron in hydrogen atom?

A. l

B. n

C. m

D. s

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_I774Z8sQ0hLH
https://dl.doubtnut.com/l/_zQKrDkJKjapv


20. For a given principal level  the energy of its

subshells is of the odrer

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n = 4

s < d < f < p

s < p < d < f

d < f < p < s

s < p < f < d

21. Which one of the following shows the correct electronic

configuration of the outermost shell in inert gases ?

https://dl.doubtnut.com/l/_VA5qRgmbCCQK
https://dl.doubtnut.com/l/_gKdGUrwBN0eH


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ns2, np6

ns2, np3

ns2, np5

ns2, np4

22. The valence orbital configuration of an element with

atomic number 23 is

A. 

B. 

C. 

3d5

3d3, 4s2

3d3, 4s1, 4p1

https://dl.doubtnut.com/l/_gKdGUrwBN0eH
https://dl.doubtnut.com/l/_DiwbIw6dXqeB


D. 

Answer: B

Watch Video Solution

3d2, 4s2, 4p1

23. The electronic configuration of 

corresponds to

A. Si

B. S

C. Na

D. Ar.

Answer: A

1s22s22p63s23p2

https://dl.doubtnut.com/l/_DiwbIw6dXqeB
https://dl.doubtnut.com/l/_qGBi0k04PmzU


Watch Video Solution

24. The maximum number of electrons in p-orbital with n =

6, m = 0 is

A. 2

B. 6

C. 10

D. 14

Answer: A

Watch Video Solution

25. The number of netrons in the element Be is

https://dl.doubtnut.com/l/_qGBi0k04PmzU
https://dl.doubtnut.com/l/_Qeyd4Hq9tCXY
https://dl.doubtnut.com/l/_sbqSkRHjhNJT


A. 4

B. 5

C. 9

D. 13

Answer: B

Watch Video Solution

26. When the azimuthal quantum number l = 1, the shape of

the orbital will be

A. spherical

B. dumb-bell

C. double dumb-bell

https://dl.doubtnut.com/l/_sbqSkRHjhNJT
https://dl.doubtnut.com/l/_ChTiCNMQnNGD


D. more complicated

Answer: B

Watch Video Solution

27. The spectrum of  is expected to be similar to that of

A. Hydrogen

B. 

C. Na

D. He

Answer: A

Watch Video Solution

He

Li+

https://dl.doubtnut.com/l/_ChTiCNMQnNGD
https://dl.doubtnut.com/l/_gMz6Mu4BqleQ


28. Sodium chloride imparts a yellow colour to the Bunsen

flame .This can be interpreted due to the

A. low ionization energy of sodium

B. sublimation of metallic sodium to give yellow vapour

C. emission of excess energy absorbed as a radiation in

the visible region

D. photosensitivity of sodium

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gMz6Mu4BqleQ
https://dl.doubtnut.com/l/_PVZ16cDctRlg


29. The exact path of electron  orbital cannot be

determined the above statement is based upon

A. Hund's Rule

B. Bohr's rule

C. Uncertainty principle

D. Aufbau principle

Answer: C

Watch Video Solution

2p

30. For the energy levels in an atom , which one of the

following statement is correct ?

https://dl.doubtnut.com/l/_WFirzQmMXcOq
https://dl.doubtnut.com/l/_zetyRPZOSPxf


A. There are seven principal electron energy levels

B. The second principal energy level has four sub-energy

levels and contain a maximum of eight electrons

C. The principal energy level N can have a maximum of

32 electrons

D. The 4s sub-energy level hs high energy than 3d sub-

energy level.

Answer: C

Watch Video Solution

31. Subsidiary quantum number specifies

https://dl.doubtnut.com/l/_zetyRPZOSPxf
https://dl.doubtnut.com/l/_gs7ybaGfbCpX


A. Size of orbital

B. Shape of orbital

C. Orientations stability

D. Nuclear stability

Answer: B

Watch Video Solution

32. As we move away from nucleus, the energy of orbit

A. decreases

B. increases

C. remains constant

https://dl.doubtnut.com/l/_gs7ybaGfbCpX
https://dl.doubtnut.com/l/_jkRJDolT0xls


D. None of these

Answer: B

Watch Video Solution

33. The spectrum of  is expected to be similar to that of

A. H

B. 

C. Na

D. 

Answer: B

Watch Video Solution

He

Li+

He+

https://dl.doubtnut.com/l/_jkRJDolT0xls
https://dl.doubtnut.com/l/_kfbJ8jhcw77P


34. The maximum number of electrons in a subshell is given

by the expression

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4l − 2

4l + 2

2l + 1

2n2

35. The atomic numbers of  and  are  and 

respectively. The electronic configuration

Ni Cu 28 29

https://dl.doubtnut.com/l/_kfbJ8jhcw77P
https://dl.doubtnut.com/l/_xDYjL5VB79mW
https://dl.doubtnut.com/l/_HkYgKdPcpyqa


 represents

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s22s22p63s23p63d10

Cu+

Cu2 +

Ni2 +

Ni

36. The correct set of quantum numbers for the unpaired

electron of chlorine atom is

A. n = 2, l = 1, m = 0

https://dl.doubtnut.com/l/_HkYgKdPcpyqa
https://dl.doubtnut.com/l/_WhqngpSnKV6U


B. 

C. 

D. 

Answer: C

Watch Video Solution

n = 2, l = 1, m = 1

n = 3, l = 1, m = 1

n = 3, l = 0, m = 0

37. Which of the following sets of quantum numbers is not

possible?

A. 

B. 

C. 

D. 

n = 3, l = 0, m = − 1

n = 3, l = 2, m = + 1

n = 3, l = 2, m = − 1

n = 3, l = 2, m = 0

https://dl.doubtnut.com/l/_WhqngpSnKV6U
https://dl.doubtnut.com/l/_SZNkfeGdeItz


Answer: A

Watch Video Solution

38. The number of spherical nodes in 3p orbitals are

A. one

B. three

C. none

D. two

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SZNkfeGdeItz
https://dl.doubtnut.com/l/_1pmBXkSv52iY
https://dl.doubtnut.com/l/_QBeOeQ4uIVXK


39. No two electrons in atom can have

A. the same principal quantum numbers

B. the same azimuthal quantum number

C. the same magnetic quantum number

D. an identical set of four quantum numbers.

Answer: D

Watch Video Solution

40. Number of neutrons in heavy hydrogen atom is

A. 0

B. 1

https://dl.doubtnut.com/l/_QBeOeQ4uIVXK
https://dl.doubtnut.com/l/_2LpUku6VDTDj


C. 2

D. 3

Answer: B

Watch Video Solution

41. If r is radius of first orbit , the radius of nth orbit of the

H atom will be

A. 

B. 

C. 

D. 

rn2

rn

r/n

r2n2

https://dl.doubtnut.com/l/_2LpUku6VDTDj
https://dl.doubtnut.com/l/_iUmMDXg7s1VZ


Answer: A

Watch Video Solution

42. The energy of a hydrogen atom in its ground state is

. The energy of the level corresponding to the

quantum number n=5 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−13.6eV

−0.54eV

−5.40eV

−0.85eV

−2.72eV

https://dl.doubtnut.com/l/_iUmMDXg7s1VZ
https://dl.doubtnut.com/l/_wVdgW3l09aqY


43. At , hydrogen molecules have velocity 

 The de Broglie wavelength in this case is

approximately

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

200∘C

2.4 × 105cms− 1

2Å

1000Å

100Å

10Å

https://dl.doubtnut.com/l/_wVdgW3l09aqY
https://dl.doubtnut.com/l/_hzLYDO6gnvJU


44. An electron has a spin quantum number  and a

magnetic quantum number -1. It cannot be present in

A. d-orbital

B. f-orbital

C. p-orbital

D. s-orbital

Answer: D

Watch Video Solution

+1
1

2

45. The electronic configuration of an atom/ion can be

defined by the following

https://dl.doubtnut.com/l/_4wk7LS7hNW1t
https://dl.doubtnut.com/l/_B4tisN4fefYT


A. Aufbau principle

B. Pauli's exclusion principle

C. Hund's rule

D. All the above

Answer: D

Watch Video Solution

46. The number of electrons in 3d shell foe element with

atomic number 26 is

A. 4

B. 6

C. 8

https://dl.doubtnut.com/l/_B4tisN4fefYT
https://dl.doubtnut.com/l/_NnPOSV0uJUyf


D. 10

Answer: B

Watch Video Solution

47. The value of Planck's constant in SI unit is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6.6 × 10− 32gm2 sec

6.6 × 10− 34kgm2 sec− 1

6.6 × 10− 33kgm sec− 1

6.6 × 10− 34gm2 sec

https://dl.doubtnut.com/l/_NnPOSV0uJUyf
https://dl.doubtnut.com/l/_RLhjSqUmSElw


48. The total number of possible values of magnetic

quantum number for the value of l = 3 is

A. 3

B. 1

C. 5

D. 7

Answer: D

Watch Video Solution

49. If the value of principal quantum number is 3, the total

possible values for magnetic quantum number will be

https://dl.doubtnut.com/l/_RLhjSqUmSElw
https://dl.doubtnut.com/l/_OkssNNatnQDT
https://dl.doubtnut.com/l/_8iCQ2vPNSgoa


A. 1

B. 4

C. 9

D. 12

Answer: C

Watch Video Solution

50. In a set of degenerate orbitals, the electrons distribute

themselves to retain similar spins as far as possible. This

statement is attributed to :

A. Pauli's exclusion principle

B. Aufbau rule

https://dl.doubtnut.com/l/_8iCQ2vPNSgoa
https://dl.doubtnut.com/l/_nEAL0QKrY76v


C. Hund's rule

D. Slater rules

Answer: C

Watch Video Solution

51. The quantum number values for the designation 3d are

A. 

B. 

C. 

D. 

Watch Video Solution

n = 2, m = − 3

n = 3, m = 3

n = 4, m = 1

n = 3, m = 2

https://dl.doubtnut.com/l/_nEAL0QKrY76v
https://dl.doubtnut.com/l/_WDdnk2KJ98rj


Watch Video Solution

52. The electron in an atom

A. moves randomly around the nucleus

B. has fixed space around the nucleus

C. is stationary in various energy levels

D. moves around its nucleus in definite energy levels.

Answer: D

Watch Video Solution

53. Electronic configuration calcium atom can be written as

https://dl.doubtnut.com/l/_WDdnk2KJ98rj
https://dl.doubtnut.com/l/_GoWigcuelZ0x
https://dl.doubtnut.com/l/_LY9wli38N5N4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ne], 4p2

[Ar], 4s2

[Ne], 4s2

[Kr], 4p2

54. The ground state configuration of  ion in gaseous

state is: (At. No. of Fe = 26)

A. 

B. 

C. 

Fe3 +

[Ar]183d34s2

[Ar]183d64s2

[Ar]183d5

https://dl.doubtnut.com/l/_LY9wli38N5N4
https://dl.doubtnut.com/l/_xW0MKAPeu0iv


D. 

Answer: B

Watch Video Solution

[Ar]183d6

55. If the uncertainty in the position of an electron is zero

the uncertainty in its momentum be

A. zero

B. 

C. 

D. infinite.

Answer: D

≥
h

4π

≤
h

4π

https://dl.doubtnut.com/l/_xW0MKAPeu0iv
https://dl.doubtnut.com/l/_mI9Qp4XmXzh3


Watch Video Solution

56. The radius of second Bohr's orbit is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.053nm

0.053/4nm

0.053 × 4nm

0.053 × 20nm

57. Cathode rays are

https://dl.doubtnut.com/l/_mI9Qp4XmXzh3
https://dl.doubtnut.com/l/_V3JK5iP7DWGu
https://dl.doubtnut.com/l/_s3TrHv42Ijwx


A. electromagnetic waves

B. stream of -particles

C. stream of electrons

D. stream of positrons

Answer: C

Watch Video Solution

α

58. Atomic number is equal to the

A. number of neutrons in the nucleus

B. number of protons in the nucleus

C. sum of protons and neutrons

https://dl.doubtnut.com/l/_s3TrHv42Ijwx
https://dl.doubtnut.com/l/_8EcYl7BGgafn


D. atomic mass of the element

Answer: B

Watch Video Solution

59. For which of the following sets of quantum numbers, an

electrons will have the highest energy ?

A. 

B. 

C. 

D. 

Answer: B

3, 2, 1, 1/2

4, 2, − 1, 1/2

4, 1, 0, − 2

5, 0, 0, 1/2

https://dl.doubtnut.com/l/_8EcYl7BGgafn
https://dl.doubtnut.com/l/_OqdTrd9LfZHE


Watch Video Solution

60. Which one of the following pairs of atoms/atom-ion

have identical ground state configuration?

A.  and 

B.  and Ar

C. Na and K

D.  and Ne.

Answer: B

Watch Video Solution

Li+ He+

Cl−

F +

https://dl.doubtnut.com/l/_OqdTrd9LfZHE
https://dl.doubtnut.com/l/_luBp9stL3YkT


61. The set of quantum number not applicable to an

electron

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1, 1, 1, +
1

2

1, 0, 0, +
1

2

1, 0, 0, −
1

2

2, 0, 0, +
1

2

62. Which of the following electronic configuration is not

possible?

https://dl.doubtnut.com/l/_x6strfRVHDwB
https://dl.doubtnut.com/l/_hfzqqzPy5dNg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s2, 2s2, 2p6

1s2, 2s2, 2p7

1s2, 2s2

1s2, 2s2, 2p5

63. The uncertainty in the position of an electron moving

with a velocity of  (accurate up to )

will be :

A. 

B. 

1 × 104cms− 1 0.011 %

1.92cm

7.68m

https://dl.doubtnut.com/l/_hfzqqzPy5dNg
https://dl.doubtnut.com/l/_rFlI9VGhTuTl


C. 

D. 

Answer: C

Watch Video Solution

0.528cm

3.84cm

64. The radus of hydrogen atom in the ground state

. The radius of  ion (Atomic number = 3) in a

similar state is

A. 

B. 

C. 

D. 

0.53Ã… Li2 +

1.06Å

0.265Å

0.17Å

0.53Å

https://dl.doubtnut.com/l/_rFlI9VGhTuTl
https://dl.doubtnut.com/l/_GfPgEXfhrl5Z


Answer: C

Watch Video Solution

65. The splitting of line into groups under the effect of

magnetic field is called

A. Stark effect

B. Zeeman effect

C. Photoelectric effect

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GfPgEXfhrl5Z
https://dl.doubtnut.com/l/_MkTk4HAYHUvm


66. Azimuthal quantum number of last electron of  is

A. 1

B. 2

C. 3

D. 0

Answer: D

Watch Video Solution

.11 Na

67. Azimuthal quantum number determines the

A. size

B. spin

https://dl.doubtnut.com/l/_BauUTZkb47hf
https://dl.doubtnut.com/l/_7wmx7nNQb3kA


C. orientation

D. angular momentum of orbitals

Answer: D

Watch Video Solution

68. Rutherford's experiment led to the discovery of

A. Nucleus

B. Electron

C. Proton

D. -particle

Answer: A

α

https://dl.doubtnut.com/l/_7wmx7nNQb3kA
https://dl.doubtnut.com/l/_pC8IIiE7O3QS


Watch Video Solution

69. Electronic configuration of  in ground state is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

.29 Cu

1s22s22p63s23p63d104s1

1s22s22p63s23p53d114s1

1s22s22p63s23p63d94s2

1s22s22p63s23p53d104s2

https://dl.doubtnut.com/l/_pC8IIiE7O3QS
https://dl.doubtnut.com/l/_ScHJ5c27Pasp


70. The number of  electrons in  (atomic number of 

) is not equal to that of the.

A. p-electrons in 

B. s-electrons in 

C. d-electrons in Fe

D. p-electrons in 

Answer: C

Watch Video Solution

d Fe2 +

Fe = 26

.10 Ne

.12 Mg

Cl−

71. The radius of the atom is of the order of

A. 10− 10cm

https://dl.doubtnut.com/l/_3iCym2zt45VU
https://dl.doubtnut.com/l/_5RploLOXS5U6


B. 

C. 

D. 

Answer: D

Watch Video Solution

10− 13cm

10− 15cm

10− 18cm

72. Maximum number of orbitals is given shell identified by

the principal quantum number  is equak to

A. 

B. 

C. 

D. 

n

2n

2n2

n2

n + 1

https://dl.doubtnut.com/l/_5RploLOXS5U6
https://dl.doubtnut.com/l/_4l4WlWTY4Oht


Answer: C

Watch Video Solution

73. The configuration  shows

A. ground state of fluorine

B. excited state of fluorine

C. excited state of neon atom

D. excited state of neon atom

Answer: C

Watch Video Solution

1s22s22p53s1

https://dl.doubtnut.com/l/_4l4WlWTY4Oht
https://dl.doubtnut.com/l/_XyNU4ETCAPz9
https://dl.doubtnut.com/l/_FIXFejFQ5Fkn


74. Electronic configuration of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

.21 Sc

1s22s22p63s23p64s23d1

1s22s22p63s23p64s13d2

1s22s22p63s23p64s03d3

1s22s22p63s23p64s23d2

75. Which of the following expressions gives the de-Broglie

relationship?

A. = p
h

mv

https://dl.doubtnut.com/l/_FIXFejFQ5Fkn
https://dl.doubtnut.com/l/_Ybuxwxlje4hA


B. 

C. 

D. 

Answer: B

Watch Video Solution

λ =
h

mv

λ =
h

mp

λm =
v

p

76. Which of the following is electronic configuration of

 ?

A. 

B. 

C. 

D. 

Cu2 + (Z = 29)

[Ar]4s13d8

[Ar]4s23d104p1

[Ar]4s13d10

[Ar]3d9

https://dl.doubtnut.com/l/_Ybuxwxlje4hA
https://dl.doubtnut.com/l/_kGReJwQeXGxB


Answer: D

Watch Video Solution

77. Which of the following orbitals have a dumb bell shape?

A. s

B. p

C. d

D. f

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kGReJwQeXGxB
https://dl.doubtnut.com/l/_qzThYyJW8k1q
https://dl.doubtnut.com/l/_8Al7D2RdIfxT


78. Which of the following scientists demonstrated the

wave nature of electron ?

A. Schrodinger

B. Davisson

C. de-Broglie

D. Heisenberg

Answer: C

Watch Video Solution

79. The quantum number which determines the shape of

the orbital is

A. principal

https://dl.doubtnut.com/l/_8Al7D2RdIfxT
https://dl.doubtnut.com/l/_Rdr1XwZwu7rz


B. azimuthal

C. magnetic

D. spin

Answer: B

Watch Video Solution

80. The uncertainty in momentum of an electron is

. The uncertainty in its position will be 

.

A. 

B. 

C. 

1 × 10− 5kg − m/s

(h = 6.62 × 10− 34kg = m2 /s)

1.05 × 10− 28m

1.05 × 10− 26m

5.27 × 10− 30m

https://dl.doubtnut.com/l/_Rdr1XwZwu7rz
https://dl.doubtnut.com/l/_9UJUL1HiCLyK


D. 

Answer: C

Watch Video Solution

5.25 × 10− 28m

81. If the radius of first Bohr orbit be , then the radius of

the third orbit would be-

A. 

B. 

C. 

D. 

Answer: C

a0

3 × a0

6 × a0

9 × a0

1/9 × a0

https://dl.doubtnut.com/l/_9UJUL1HiCLyK
https://dl.doubtnut.com/l/_RtjLdYx7Tu3L


Watch Video Solution

82. The correct ground state electronic configuration of

chromium atom(Z=24) is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Ar]3d54s1

[Ar]3d44s2

[Ar]3d64s0

[Ar]4d54s1

https://dl.doubtnut.com/l/_RtjLdYx7Tu3L
https://dl.doubtnut.com/l/_SwF3bOvS1Qx1


83. An electron has principal quantum number . The

number of its (i) sub-shell and (ii) orbitals would be

respectively.

A. 3 and 5

B. 3 and 7

C. 3 and 9

D. 2 and 5

Answer: C

Watch Video Solution

3

https://dl.doubtnut.com/l/_o1Pxs9gPMPng


84. The uncertainty principle and the concept of wave

nature of matter were proposed by.............and

............respectively.

A. Heisenberg, de-Broglie

B. de-Broglie, Heisenberg

C. Heisenberg, Planck

D. Planck, Heisenberg

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RUsmGwsHGeBz


85. The first emission line of Balmer series in H spectrum

has the wave number equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm− 19R
400

cm− 17R
144

cm− 13R
4

cm− 15R
36

86. The four quantum number of the valence electron of

potassium are.

https://dl.doubtnut.com/l/_t8Snet5PNSrF
https://dl.doubtnut.com/l/_0cgtuf843uNN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4, 1, 1, 1/2

4, 0, 0, 1/2

4, 1, 0, 1/2

4, 4, 0, 1/2

87. An -particle is identical with

A. Proton

B. Neutron

C. Helium nucleus

α

https://dl.doubtnut.com/l/_0cgtuf843uNN
https://dl.doubtnut.com/l/_jYT6RCCEbZNq


D. Electron.

Answer: C

Watch Video Solution

88. Heaviest particle is

A. Meson

B. Neutron

C. Proton

D. Electron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jYT6RCCEbZNq
https://dl.doubtnut.com/l/_ltAnf6SMeTm8


89. The ratio of specific charge of an  particle to that of

a proton is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α −

2: 1

1: 2

1: 4

1: 1

90. Which of the following electron configurations is

correct for iron,(atomic number26)?

https://dl.doubtnut.com/l/_ltAnf6SMeTm8
https://dl.doubtnut.com/l/_jjiF9aeW4CSY
https://dl.doubtnut.com/l/_dvXh0u1VltK0


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p63s23p63d5

1s22s22p63s23p64s23d5

1s22s22p63s23p64s23d7

1s22s22p63s23p64s23d6

91. Which of the following has more number of unpaired d-

electrons ?

A. 

B. 

C. 

Zn+

Fe2 +

Ni3 +

https://dl.doubtnut.com/l/_dvXh0u1VltK0
https://dl.doubtnut.com/l/_Cpj98jcdhsg6


D. 

Answer: B

Watch Video Solution

Cu+

92. Who modified Bohr's theory of introducing elliptical

orbits for electron path?

A. Hund

B. Thomson

C. Rutherford

D. Sommerfield

Answer: D

https://dl.doubtnut.com/l/_Cpj98jcdhsg6
https://dl.doubtnut.com/l/_A01xqw1RNYJ8


Watch Video Solution

93. The de-Broglie wavelength of a particle with mass 

and velocity  is.

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

1g

100m/sec

6.63 × 10− 33m

6.63 × 10− 34m

6.63 × 10− 35m

6.65 × 10− 35m

https://dl.doubtnut.com/l/_A01xqw1RNYJ8
https://dl.doubtnut.com/l/_XOQiI2At9QVq


94. Which of the following sets of quantum numbers

represents the highest energy of an atom?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n = 4, l = 0, m = 0, s = +
1

2

n = 3, l = 0, m = 0, s = +
1

2

n = 3, l = 1, m = 1, s = +
1

2

n = 3, l = 2, m = 1, s = +
1

2

95. If wavelength of photon is , 

, then momentum of photons is

2.2 × 10− 11m

h = 6.6 × 10− 34Js

https://dl.doubtnut.com/l/_TcPY359fQkHn
https://dl.doubtnut.com/l/_VBq4Qfb9pvX8


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 × 10− 23kgms− 1

3.33 × 102kgms− 1

1.452 × 10− 44kgms− 1

6.89 × 1043kgms− 1

96. The energy of a photon is given as, /atom 

 then, the wavelength  of the

photon is

A. 

B. 

ΔE

= 3.03 × 10− 19Jatom − 1 (λ)

65.6nm

656nm

https://dl.doubtnut.com/l/_VBq4Qfb9pvX8
https://dl.doubtnut.com/l/_NSo8wRE24kXI


C. 

D. 

Answer: B

Watch Video Solution

0.656nm

6.56nm

97. Which of the following is not possible ?

A. 

B. 

C. 

D. 

Answer: C

n = 3, l = 0, m = 0

n = 3, l = 1, m = − 1

n = 2, l = 0, m = − 1

n = 2, l = 1, m = − 1

https://dl.doubtnut.com/l/_NSo8wRE24kXI
https://dl.doubtnut.com/l/_Ki1k8TpQROCT


Watch Video Solution

98. Which of the following represents noble gas

configuration?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s22s22p63s23p63d104s24p64d105s25p6

1s22s22p63s23p63d104s24f 145s25p65d1

1s22s22p63s23p63d104s24p64d105s25p65d16s2

1s22s22p63s23p63d104s24p64d105s25p65d66s2

https://dl.doubtnut.com/l/_Ki1k8TpQROCT
https://dl.doubtnut.com/l/_VtsV84f5aVeF


99. The electronic configuration of the outemost shell of

the most electronegative element is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s2.2s2.2p4.3s1

1s2.2s2.2p6.3s2.3p5

1s2.2s2.2p5

1s2.2s2.2p6.3s1. 3p8

100.  erg of energy corresponds to

A. 

1

6.02 × 1023J /mol

https://dl.doubtnut.com/l/_XaEZFpNnM9d1
https://dl.doubtnut.com/l/_2ox513fBpK4c


B. 

C. 

D. 

Answer: B

Watch Video Solution

6.02 × 1016J /mol

1  erg/mol

10− 7J /mol

101. The element with electronic configuration of its atom

 is

A. Fe

B. Co

C. Ni

D. Cu

1s2.2s2.2p6.3s2.3d10.4s1

https://dl.doubtnut.com/l/_2ox513fBpK4c
https://dl.doubtnut.com/l/_PfiSgnP5spfJ


Answer: D

Watch Video Solution

102. According to Bohr's theory , the energy required for

the transition of H atom from n = 6 to n = 8 state is

A. equal to energy required for the transition from n = 5

to n = 7 state

B. larger than in (A)

C. less than in (A)

D. equal to energy for the transition from n = 7 to n = 9

state

https://dl.doubtnut.com/l/_PfiSgnP5spfJ
https://dl.doubtnut.com/l/_MQFDjDQRzB6R


Answer: C

Watch Video Solution

103. A 4f orbital has

A. one node

B. two nodes

C. three nodes

D. four nodes

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MQFDjDQRzB6R
https://dl.doubtnut.com/l/_MCzh4oFyTQax
https://dl.doubtnut.com/l/_zeE77yCg0hjc


104. The equation.  shows

A. de-Broglie relation

B. Heisenberg's uncertainty principle

C. Aufbau principle

D. Hund's rule

Answer: B

Watch Video Solution

Δx. Δp ≥ h/4π

105. An electron has kinetic energy  de-Broglie

wavelength will be nearly. 

.

A. 

2.8 × 10− 23J

(me = 9.1 × 10− 31kg)

9.28 × 10− 4m

https://dl.doubtnut.com/l/_zeE77yCg0hjc
https://dl.doubtnut.com/l/_LWXB5bmI3CpC


B. 

C. 

D. 

Answer: C

Watch Video Solution

9.28 × 10− 7m

9.28 × 10− 8m

9.28 × 10− 10m

106. What will be de Broglie's wavelength of an electron

moving with a velocity of  ?

A. 

B. 

C. 

D. 

1.2 × 105ms− 1

6.068 × 10− 9

3.133 × 10− 37

6.626 × 10− 9

6.018 × 10− 7

https://dl.doubtnut.com/l/_LWXB5bmI3CpC
https://dl.doubtnut.com/l/_ZmGN1vipWYnY


Answer: A

Watch Video Solution

107. The total number of orbitals possible for the quantum

number n is

A. n

B. 

C. 2n

D. 

Answer: B

Watch Video Solution

n2

2n2

https://dl.doubtnut.com/l/_ZmGN1vipWYnY
https://dl.doubtnut.com/l/_Onf4Y4PiOVis


108. Which of the following has same number of electrons

in te last shell?

A. As and B

B. Sn and Pb

C. N and O

D. Fe and Cr

Answer: B

Watch Video Solution

109. In which of the following pairs, the number of

electrons in the outermost shell are different?

https://dl.doubtnut.com/l/_HsQkMdaV5L0W
https://dl.doubtnut.com/l/_B9XbfLocw6CK


A. As, Sb

B. Ge, Sn

C. In, Pt

D. Se, Te

Answer: C

Watch Video Solution

110. The wavelength associated with a gold weighing 

and moving at a speed of  is of the order :- 


(a).  


(b). 


(c).  


(d). 

200g

5m/h

10− 10m

10− 20m

10− 30m

10− 40m

https://dl.doubtnut.com/l/_B9XbfLocw6CK
https://dl.doubtnut.com/l/_6PstE19HWW2x


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10− 15m

10− 20m

10− 35m

10− 25m

111. The third line of the Balmer series, in the emission

spectrum of the hydrogen atom, is due to the transition

from the

A. fourth Bohr orbit to the first Bohr orbit

B. fifth Bohr orbit to the second Bohr orbit

https://dl.doubtnut.com/l/_6PstE19HWW2x
https://dl.doubtnut.com/l/_rYBVWiyg0v1m


C. sixth Bohr orbit to the third Bohr orbit

D. seventh Bohr orbit to the third Bohr orbit

Answer: B

Watch Video Solution

112. The correct set of quantum numbers for 4d-electrons is

A. 

B. 4,2,1,0

C. 

D. 

Answer: D

4, 3, 2, + 1/2

4, 3, − 2, + 1/2

4, 2, 1, − 1/2

https://dl.doubtnut.com/l/_rYBVWiyg0v1m
https://dl.doubtnut.com/l/_n1MrpSndSqQD


Watch Video Solution

113. The highest number of unapired electrons are present

in

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Fe0

Fe4 +

Fe2 +

Fe3 +

https://dl.doubtnut.com/l/_n1MrpSndSqQD
https://dl.doubtnut.com/l/_oQPQcprqYvC7


114. The nineteenth electron of chromium has which of the

following set of quantum number?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n l m s

3 0 0 1/2

n l m s

3 2 −2 1/2

n l m s

4 0 0 1/2

n l m s

4 1 −1 1/2

115. Rutherford's model suggests the existence of

A. Atom

https://dl.doubtnut.com/l/_x0jOiwMkJCEs
https://dl.doubtnut.com/l/_hlUg1l7b01U1


B. Nucleus

C. -particle

D. Mesons

Answer: B

Watch Video Solution

α

116. For how many orbitals are the quantum numbers

 possible?

A. 1

B. 2

C. 3

D. 4

n = 3, l = 2, m = + 2

https://dl.doubtnut.com/l/_hlUg1l7b01U1
https://dl.doubtnut.com/l/_010VEhoROyeP


Answer: A

Watch Video Solution

117. In the ground state, an element has  electrons in its

 shell. The element is

A. Copper

B. Chromium

C. Nickel

D. Iron

Answer: B

Watch Video Solution

13

M

https://dl.doubtnut.com/l/_010VEhoROyeP
https://dl.doubtnut.com/l/_Ig3YNEQtAAvb


118. Which one of the following pairs of ions have the same

electronic configuration?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cr3 + , Fe3 +

Fe3 + , Mn2 +

Fe3 + , Co3 +

Sr3 + , Cr3 +

119. Which is not true with respect to the cathode rays ?

A. A stream of electrons

https://dl.doubtnut.com/l/_RbFkH7e4aqIi
https://dl.doubtnut.com/l/_fV1USXhgvG5j


B. Charged particles

C. Move with speed as that of light

D. Can be deflected by magnetic fields

Answer: C

Watch Video Solution

120. An element  has an atomic mass  and atomic

number . Its ion is represented by

A. 

B. 

C. 

D. 

M 19

9

M +

m2 +

M −

M 2 −

https://dl.doubtnut.com/l/_fV1USXhgvG5j
https://dl.doubtnut.com/l/_LS2hpKoWiiRi


Answer: C

Watch Video Solution

121. Rutherford's  particle dispersion experiment

concludes that

A. All positive ions are deposited at small part

B. All negative ions are deposited at small part

C. Proton moves around the electron

D. Neutrons are charged particles.

Answer: A

Watch Video Solution

α

https://dl.doubtnut.com/l/_LS2hpKoWiiRi
https://dl.doubtnut.com/l/_YQb3SokcM4I4


122. Which of the following element's outermost orbit's last

electron has magnetic quantum number ?

A. Na

B. O

C. Cl

D. N

Answer: A

Watch Video Solution

m = 0

123. which of the following ions has the maximum magnetic

moment ?

https://dl.doubtnut.com/l/_W8dquzsQfmeQ
https://dl.doubtnut.com/l/_sWMDwECYScmw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mn2 +

Fe2 +

Ti2 +

Cr2 +

124. The spectrum of  is expected to be similar to that of

A. H

B. Na

C. 

He

He+

https://dl.doubtnut.com/l/_sWMDwECYScmw
https://dl.doubtnut.com/l/_r25vpHF9h6rT


D. 

Answer: D

Watch Video Solution

Li+

125. Chloride ion and potassium ion are isoelectronic. Then

A. their sizes are same

B. chloride ion is bigger than potassium ion

C. potassium is relatively bigger

D. depends on the other cation or anion

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_r25vpHF9h6rT
https://dl.doubtnut.com/l/_1Z8KjfZF6Fq1


126. For f-orbital, the values of m are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−2, − 1, 0, + 1, + 2

−3, − 2, − 1, 0, + 1, + 2, + 3

−1, 0, + 1

0, + 1, + 2, + 3

127. The correct orders of increasing energy of atomic

orbitals is

https://dl.doubtnut.com/l/_1Z8KjfZF6Fq1
https://dl.doubtnut.com/l/_8JY6xf8CaUBs
https://dl.doubtnut.com/l/_HDscshJsRali


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5p < 4f < 6s < 5d

5p < 6s < 4f < 5d

4f < 5p < 5d < 6s

5p < 5d < 4f < 6s

128. Which of the following is not isoelectronic ?

A. 

B. 

C. 

Na+

Mg2 +

O2 −

https://dl.doubtnut.com/l/_HDscshJsRali
https://dl.doubtnut.com/l/_TbmoF0QApIJN


D. 

Answer: D

Watch Video Solution

Cl−

129. As the nuclear charge increases from neon to calcium,

the orbital energies

A. increases

B. increase rapidly

C. increase very slowly

D. fall

Answer: D

https://dl.doubtnut.com/l/_TbmoF0QApIJN
https://dl.doubtnut.com/l/_HSTI0iMM6ucD


Watch Video Solution

130. The value of the energy for the first excited state of

hydrogen will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−13.6eV

−3.40eV

−1.51eV

−0.85eV

https://dl.doubtnut.com/l/_HSTI0iMM6ucD
https://dl.doubtnut.com/l/_o2QdKN67aOeP


131. In hydrogen atom, energy of first excited state is

. Then,  of the same orbit of hydrogen atom is.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−3.4eV KE

+3.4eV

+6.8eV

−13.6eV

+13.6eV

132. The energy of the first electron in helium will be

A. −13.6eV

https://dl.doubtnut.com/l/_nQiUYI8KmVIv
https://dl.doubtnut.com/l/_RbFXqWMOUsK8


B. 

C. 

D. zero.

Answer: B

Watch Video Solution

−54.4eV

−5.44eV

133. In a hydrogen atom, if energy atom, if energy of an

electron in group state is , then that in the 

excited state is :

A. 

B. 

C. 

−13.6eV 2nd

1.51eV

3.4eV

6.04eV

https://dl.doubtnut.com/l/_RbFXqWMOUsK8
https://dl.doubtnut.com/l/_RORKAjQYxYZL


D. 

Answer: A

Watch Video Solution

13.6eV

134. In the Bohr's orbit, what is the ratio of total kinetic

energy and total energy of the electron

A. 

B. 

C. 1

D. 

Answer: A

−1

−2

+2

https://dl.doubtnut.com/l/_RORKAjQYxYZL
https://dl.doubtnut.com/l/_PmicTe5EmIlG


Watch Video Solution

135. The configuration  shows

A. Excited state of 

B. Excited state of neon

C. Excited state of fluorine

D. Ground state of flurine atom.

Answer: B

Watch Video Solution

1s22s22p53s1

O−
2

136. The ratio between kinetic enegry and total enegry of

the electrons of hydrogen atom according to Bohr's model

https://dl.doubtnut.com/l/_PmicTe5EmIlG
https://dl.doubtnut.com/l/_JWvSvBlq7Mk2
https://dl.doubtnut.com/l/_80ub4RSnwu0q


is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2: 1

1: 1

1: − 1

1: 2

137. The value of Planck's constant is . The

velocity of light is . Which value is closest to

the wavelength in nanometers of a quantum of light with

frequency ?

6.63 × 10− 34Js

3.0 × 108ms− 1

8 × 1015s− 1

https://dl.doubtnut.com/l/_80ub4RSnwu0q
https://dl.doubtnut.com/l/_MX1oaVZ0Ry9d


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 107

2 × 1025

5 × 10− 18

4 × 101

138. In Bohr series of lines of hydrogen spectrum, third line

from the red end corresponds to which one of the

following inner orbit jumps of electron for Bohr orbit in

atom in hydrogen :

A. 3 → 2

https://dl.doubtnut.com/l/_MX1oaVZ0Ry9d
https://dl.doubtnut.com/l/_ahkLoZ9eFQSm


B. 

C. 

D. 

Answer: B

Watch Video Solution

5 → 2

4 → 1

2 → 5

139. The de-Broglie wavelength of a tennis ball mass 

moving with a velocity of  per second is approximately

:

A.  metres

B.  metres

C.  metres

60g

10m

10− 33

10− 31

10− 16

https://dl.doubtnut.com/l/_ahkLoZ9eFQSm
https://dl.doubtnut.com/l/_Hu6nV7dL5LIk


D.  metres

Answer: A

Watch Video Solution

10− 25

140. The orbital angular momentum for an electron

revolving in an orbit is given by . What is the

momentum of an s-electron?

A. 

B. zero

C. 

D. 

√l(l + 1)
h

2π

+ .
1
2

h

2π

h

2π

√2.
h

2π

https://dl.doubtnut.com/l/_Hu6nV7dL5LIk
https://dl.doubtnut.com/l/_GDxNgOTdhANz


Answer: B

Watch Video Solution

141. The number of d-electrons retained in  (At. no. of

Fe = 26) ions is

A. 3

B. 4

C. 5

D. 6

Answer: D

Watch Video Solution

Fe2 +

https://dl.doubtnut.com/l/_GDxNgOTdhANz
https://dl.doubtnut.com/l/_f6dEjMBePnDd


142. The angular momentum of electron in nth orbit is

given by

A. 

B. 

C. 

D. nh

Answer: C

Watch Video Solution

2π

nh

π

2nh

nh

2π

143. Configuration of  is

A. 

5p1

n = 5, l = 1

https://dl.doubtnut.com/l/_lSKv0LDwjPnX
https://dl.doubtnut.com/l/_Wxg7iP6vmDCy


B. 

C. 

D. 

Answer: A

Watch Video Solution

n = 4, l = 1

n = 4, l = 0

n = 5, l = 0

144. Number of orbitals present in 3rd shell is

A. 1

B. 3

C. 9

D. 18

https://dl.doubtnut.com/l/_Wxg7iP6vmDCy
https://dl.doubtnut.com/l/_6KnYgRu7xKB1


Answer: C

Watch Video Solution

145. RUTHERFORD'S NUCLEAR MODEL OF ATOM

A. spiral

B. circular

C. Both

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6KnYgRu7xKB1
https://dl.doubtnut.com/l/_lqfCb4hkdYQL
https://dl.doubtnut.com/l/_fhuvVmxCqUGV


146. Rutherford's model suggests the existence of

A. atoms

B. nucleus

C. -particle

D. mesons

Answer: B

Watch Video Solution

α

147. The total number of electrons present in all  orbitals,

all the  orbitals, and all the  orbitals of cesium ion are,

respectively,

A. 8,26,10

s

p d

https://dl.doubtnut.com/l/_fhuvVmxCqUGV
https://dl.doubtnut.com/l/_mpg3oeBejmkF


B. 10, 24, 20

C. 8, 22, 24

D. 12, 20, 22

Answer: B

Watch Video Solution

148. The atomic number of an element is 35. What is the

total number of electrons present in all the -orbitals of

the ground state atom of that element?

A. 6

B. 11

C. 17

p

https://dl.doubtnut.com/l/_mpg3oeBejmkF
https://dl.doubtnut.com/l/_TVPOFH6paVHj


D. 23

Answer: C

Watch Video Solution

149. Unpaired electrons in , (Z = 28) is

A. 0

B. 2

C. 4

D. 8

Answer: B

Watch Video Solution

Ni+ +

https://dl.doubtnut.com/l/_TVPOFH6paVHj
https://dl.doubtnut.com/l/_7sdt5xbUnbLl


150. Two electrons occupying the same orbital are

distinguished by :

A. principal quantum number

B. azimuthal quantum number

C. magnetic quantum number

D. orbital quantum number

Answer: D

Watch Video Solution

151. The emission spectrum of hydrogen is found to satisfy

the expression for the energy change  (in joules) suchΔE

https://dl.doubtnut.com/l/_7sdt5xbUnbLl
https://dl.doubtnut.com/l/_Nz9Uwx7Jfs08
https://dl.doubtnut.com/l/_BVVFjTSt6T2j


that 

 

where  and  The spectral

lines correspond to Paschen series if

A.  and 

B.  and 

C.  and 

D.  and  = infinity

Answer: B

Watch Video Solution

ΔE = 2.18 × 10− 18( − )J
1

n2
1

1

n2
2

n1 = 1, 2, 3, .... n2 = 2, 3, 4, ...

n1 = 1 n2 = 2, 3, 4

n1 = 1 n2 = 3, 4, 5

n1 = 2 n2 = 3, 4, 5

n1 = 1 n2

152. Nuclear theory of the atom was put forward by

https://dl.doubtnut.com/l/_BVVFjTSt6T2j
https://dl.doubtnut.com/l/_bTte3hZrsHxk


A. Rutherford

B. Aston

C. Neils Bohr

D. J.J. Thomson

Answer: A

Watch Video Solution

153. For principal quantum number, n = 4, the toal number

of orbitals having l = 3 is

A. 3

B. 7

C. 5

https://dl.doubtnut.com/l/_bTte3hZrsHxk
https://dl.doubtnut.com/l/_aLK8yXRlHhMd


D. 9

Answer: B

Watch Video Solution

154. The correct enegry value order is

A. ns, np, nd, (n-1) f

B. ns, np, (n-1), (n-2)f

C. ns, np, (n-1)d, (n-1)f

D. ns,(n-1)d, np, (n-2)f

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aLK8yXRlHhMd
https://dl.doubtnut.com/l/_TGgDo4MVDmWa


155. Among the following series of transition metal ions the

one where all meal ions have  electronic configuration

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3d2

Ti2 + , V 3 + , Cr4 + , Mn5 +

Ti3 + , V 2 + , Cr3 + , Mn4 +

Ti+ , V 2 + , Cr3 + , Mn4 +

Ti4 + , V 3 + , Cr2 + , Mn3 +

https://dl.doubtnut.com/l/_TGgDo4MVDmWa
https://dl.doubtnut.com/l/_LiV6henwpgsA


156. The frequency of radiations emitted when electron falls

from  to  in  would be (Given  for 

 and .)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n = 4 n = 1 H − atom E1

H = 2.18 × 10− 18Jatom − 1 h = 6.625 × 10− 34Js

2.00 × 1015s− 1

1.54 × 1015s− 1

1.03 × 1015s− 1

3.08 × 1015s− 1

157. For d-electrons, the orbital angular momentum is

https://dl.doubtnut.com/l/_EGiQPZ2fX9T9
https://dl.doubtnut.com/l/_pL1HD3TSFXSB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√6h/2π

√2h/2π

h/2π

2h/π

158. Which of the following electronic configuration is not

possible according to Hund's rule?

A. 

B. 

C. 

1s22s2

1s22s1

1s22s22p1
x2p1

y2p1
z

https://dl.doubtnut.com/l/_pL1HD3TSFXSB
https://dl.doubtnut.com/l/_mhqXEDaMr6ON


D. 

Answer: D

Watch Video Solution

s22s22p2
x

159. Time taken by an electrons to complete one revolution

in the Bohr orbit of the  atom is

A. 

B. 

C. 

D. 

Answer: A

H

4π2mr2

nh

nh

4π2mr

2πmr

π2h2

h

2πmr

https://dl.doubtnut.com/l/_mhqXEDaMr6ON
https://dl.doubtnut.com/l/_qNWMoSbHLeL4


Watch Video Solution

160. The atomic number of an element is derived from

A. Number of electrons

B. Number of protons

C. Number of neutrons

D. Number of nucleons

Answer: B

Watch Video Solution

161. One electron species having ionization enegry of

 is54.4eV

https://dl.doubtnut.com/l/_qNWMoSbHLeL4
https://dl.doubtnut.com/l/_YRt3CxXAJCdO
https://dl.doubtnut.com/l/_uQbqp8WYjjaX


A. H

B. 

C. 

D. 

Answer: B

Watch Video Solution

He+

B4 +

Li2 +

162. The correct set of quantum numbers (n, l and m)

respectively of the unpaired electron of chloine atom is

A. 2,1,0

B. 2,1,1

C. 3,1,1

https://dl.doubtnut.com/l/_uQbqp8WYjjaX
https://dl.doubtnut.com/l/_64VMpm77pFys


D. 3,2,1

Answer: C

Watch Video Solution

163. Which of the following sets of quantum numbers is

correct for an electron in 4f-orbtial ?

A. n = 4, l = 3, m = +4, s = + 1/2

B. n = 3, l = 2, m = -2, s = + 1/2

C. n = 4, l = 3, m = +1, s = + 1/2

D. n = 4, l = 4, m = - 4, s = 1/2

Answer: C

https://dl.doubtnut.com/l/_64VMpm77pFys
https://dl.doubtnut.com/l/_f9CHRNaj58VU


Watch Video Solution

164. Consider the ground state  atom . The

number of electron with the azimuthal number  and 

,respectively are

A. 12 and 4

B. 16 and 5

C. 16 and 4

D. 12 and 5

Answer: D

Watch Video Solution

Cr (Z = 24)

l = 1 2

https://dl.doubtnut.com/l/_f9CHRNaj58VU
https://dl.doubtnut.com/l/_sZt7o5CTbvqa


165. The wavelength of the radiation emitted , when in a

hydrogen atom electron falls from infinity to stationary

state 1 , would be : 

(Rydberg constant = )

A. 91 nm

B. 

C. 406 nm

D. 192 nm

Answer: A

Watch Video Solution

1.097 × 107m− 1

9.1 × 10− 8nm

https://dl.doubtnut.com/l/_LPSuxCq8bYaz


166. Effective magentic moment of  ion is

A. 

B. 0

C. 

D. 

Answer: B

Watch Video Solution

Sc3 +

1.73

5.92

2.83

167. The relationship between energy E, of the radiation

with a wavelength 8000 Å and the energy of the radiation

with a wavelength 16000 Å is

https://dl.doubtnut.com/l/_YwGZXef8Cl2z
https://dl.doubtnut.com/l/_1eFodiY35u3E


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

E1 = 6E2

E1 = 2E2

E1 = 4E2

E10 = 1 / 2E2

168. The energy of second Bohr orbit of the hydrogen atom

is , hence the energy of fourth Bohr orbit

would be.

A. 

B. 

−328kJmol− 1

−41kJmol− 1

−1312kJmol− 1

https://dl.doubtnut.com/l/_1eFodiY35u3E
https://dl.doubtnut.com/l/_iUErY3sYzPv3


C. 

D. 

Answer: D

Watch Video Solution

−164kJmol− 1

−82kJmol− 1

169. in a multi- electron atom ,which of the following

orbitals described by the three quantum numbers, which of

the following will have nearly same energy? 

A. a and b

B. b and c

(P ) n = 1,l = 0,m = 0 (q) n = 2,l = 0,m = 0

(r) n = 2,l = 1,m = 1, (S) n = 3,l = 2,m = 1

(t) n = 3,l = 2,m = 0 ,,

https://dl.doubtnut.com/l/_iUErY3sYzPv3
https://dl.doubtnut.com/l/_bRGSSTQFC5Wz


C. c and d

D. d and e

Answer: D

Watch Video Solution

170. Which of the following statement is correct in relation

to the hydrogen atom :

A. 3s-orbital is lower in energy than 3p-orbital

B. 3p-orbital is lower in energy than 3d-orbital

C. 3s and 3p orbitals are of lower energy than 3d orbital

D. 3s, 3p and 3d orbitals all have the same energy.

https://dl.doubtnut.com/l/_bRGSSTQFC5Wz
https://dl.doubtnut.com/l/_yZgb9qmdZTxk


Answer: D

Watch Video Solution

171. What is the packet of enegry called ?

A. electrons

B. photon

C. positron

D. proton

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yZgb9qmdZTxk
https://dl.doubtnut.com/l/_1KAhHjbI4F2e
https://dl.doubtnut.com/l/_cstNqx41y9DO


172. The atomic numbers of elements ,and  are 

, and , respectively. The number of eletron present

in the  shells of these elements follows the order

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X, Y Z

19, 21 23

M

Z > X > Y

X > Y > Z

X > Y > Z

Z > Y > X

173. An electron is moving in Bohr's fourth orbit. Its de

Broglie wavelength is . What is the circumference of theλ

https://dl.doubtnut.com/l/_cstNqx41y9DO
https://dl.doubtnut.com/l/_T8EjRFBX6myi


fourth orbit?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2/λ

2λ

4λ

3/λ

174. The correct order of the number of unpaired electrons

in the ions , and is

A. 

Cu2 + , Ni2 + , Fe3 + Cr3 +

Cu2 + > Ni2 + > Cr3 + > Fe3 +

https://dl.doubtnut.com/l/_T8EjRFBX6myi
https://dl.doubtnut.com/l/_0Efbw4bgOm2m


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr3 + > Fe2 + > Ni2 + > Ce2 +

Fe3 + > Cr3 + > Cu2 + > Ni2 +

Fe3 + > Cr3 + > Ni2 + > Cu2 +

175. Calculate the magnetic moment of a divalent ion in

aqueous solution if its atomic number is 25.

A.  BM

B.  BM

C.  BM

D.  BM

3.0

4.9

5.9

6.9

https://dl.doubtnut.com/l/_0Efbw4bgOm2m
https://dl.doubtnut.com/l/_ewwuOUUVQsGX


Answer: C

Watch Video Solution

176. The most probable radius (in pm) for finding the

electron in  is.

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

He+

52.9

26.5

105.8

https://dl.doubtnut.com/l/_ewwuOUUVQsGX
https://dl.doubtnut.com/l/_sgvRcxOJGqRQ


177. When potassium metal is exposed to violet light

A. Ejection of electrons takes place

B. Ejection of some potassium atoms occurs

C. There is no effect

D. The absorption of electrons takes place

Answer: A

Watch Video Solution

178. The -spectrum confirms

A. Heisenberg's uncertainity principle

B. Differaction

H

https://dl.doubtnut.com/l/_TfivRYEzBfgp
https://dl.doubtnut.com/l/_rh5pObAcbWtc


C. Polarization

D. Presence of quantized energy levels.

Answer: D

Watch Video Solution

179. Electrons will first enterinto the orbital with the set of

quantum numbers

A. n = 5, l = 0

B. n = 4, l = 1

C. n = 3, l = 2

D. any of these

https://dl.doubtnut.com/l/_rh5pObAcbWtc
https://dl.doubtnut.com/l/_cSfqTbbR2wsW


Answer: C

Watch Video Solution

180. A metal surface is exposed to solar radiations. Which

of the following is true?

A. The emitted electrons have energy less than a

maximum value or energy depending upon the

frequency of the incident radiation.

B. The emitted electrons have energy less than the

maximum value of energy depending

C. The intensity of incident radiation

https://dl.doubtnut.com/l/_cSfqTbbR2wsW
https://dl.doubtnut.com/l/_0qpioWeKv3nY


D. The emitted electrons have energy equal to energy of

photons of incident light.

Answer: A

Watch Video Solution

181. In which of the following transition will the wavelength

be minimum ?

A. 

B. 

C. 

D. 

n4 → n1

n2 → n1

n4 → n2

n3 → n1

https://dl.doubtnut.com/l/_0qpioWeKv3nY
https://dl.doubtnut.com/l/_LSn9VxXtS8vM


Answer: A

Watch Video Solution

182. Which of the following set of quantum numbers is not

possible for an electron in the ground state of an atom

with atomic number ?

A. n = 2, l = 0, m = 0

B. n = 2, l = 1, m = 0

C. n = 3, l = 1, m = -1

D. n = 3, l = 2, m = +-1

Answer: D

Watch Video Solution

19

https://dl.doubtnut.com/l/_LSn9VxXtS8vM
https://dl.doubtnut.com/l/_CNYjdDylyWBd


183. The angular momentum of an electron revolving in a p-

orbital is

A. zero

B. 

C. 

D. 

Answer: B

Watch Video Solution

h/√2π

h

2π

.
1

2
h

2π

https://dl.doubtnut.com/l/_CNYjdDylyWBd
https://dl.doubtnut.com/l/_oJe21tXWsJTm


184. The angular momentum of an electron is zero. In which

orbital may it be present?

A. 2s

B. 2p

C. 3d

D. 4f

Answer: A

Watch Video Solution

185. Determine de-Broglie wavelength of an electron having

kinetic energy of  erg. 1. 6 × 10− 6

https://dl.doubtnut.com/l/_DRgOcRNeXyn8
https://dl.doubtnut.com/l/_NaAKTA8Wu0AX


.

A. 662

B. 1324

C. 

D. 

Answer: A

Watch Video Solution

(mc = 9. 11 × 10− 28g, h = 6.62 × 10− 27erg − sec)

66.2

6.62

186. For a Bohr atom, angular momentum of an electron is

(n = 0, 1,2 .....)

A. 
n2h2

4π

https://dl.doubtnut.com/l/_NaAKTA8Wu0AX
https://dl.doubtnut.com/l/_m0uRuH12HgP4


B. 

C. 

D. 

Answer: D

Watch Video Solution

nh2

4π

√nh

2π

nh

2π

187. The radus of hydrogen atom in the ground state 

. The radius of  ion (Atomic number = 3) in a similar

state is

A. 

B. 

C. 

0.53Å

Li2 +

0.176Å

0.53Å

0.30Å

https://dl.doubtnut.com/l/_m0uRuH12HgP4
https://dl.doubtnut.com/l/_Agv088uu16rC


D. 

Answer: A

Watch Video Solution

1.25Å

188. The atomic numbers of  and  are  and 

respectively. The electronic configuration

 represent

A. 

B. 

C. 

D. Ni

Ni Cu 28 29

1s22s22p63s23p63d10

Cu+

Cu2 +

Ni2 +

https://dl.doubtnut.com/l/_Agv088uu16rC
https://dl.doubtnut.com/l/_Pdy1u5ZDB6jO


Answer: A

Watch Video Solution

189. Which of the folowing statements is incorrect about an

atomic orbital?

A. is a single electron wave function

B. describes trajectary of electron in an atom

C. defines distribution of electron density in space

D. can be represented by boundary surface.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Pdy1u5ZDB6jO
https://dl.doubtnut.com/l/_mR1rF5jHuNip


190. The maximum number of impaired electrons are in

A. 

B. 

C. 

D. Fe

Answer: B

Watch Video Solution

Fe2 +

Fe3 +

Fe4 +

191. A body of mass  is moving with a velocity of 

. The wavelength of the de Broglie wave

associated with it would be

10mg

100ms− 1

https://dl.doubtnut.com/l/_m91mKdnJwZZJ
https://dl.doubtnut.com/l/_7qQnC7jCR7Dl


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6.63 × 10− 7m

6.63 × 10− 31m

6.63 × 10− 4m

6.63 × 10− 35m

192. What is the wave number of 4th line in Balmer series of

hydrogen spectrum ? 

A. 

B. 

R = 1, 109, 677cm− 1

26630cm− 1

24360cm− 1

https://dl.doubtnut.com/l/_7qQnC7jCR7Dl
https://dl.doubtnut.com/l/_yFqsUY71c7cs


C. 

D. 

Answer: D

Watch Video Solution

24730cm− 1

24372cm− 1

193. If 0.50 mol of  is mixed with 0.20 mol of 

, the maximum number of moles of 

that can be formed is

A. 

B. 

C. 

D. 

BaCl2

Na3PO4 Ba3(PO4)2

0.7

0.5

0.3

0.1

https://dl.doubtnut.com/l/_yFqsUY71c7cs
https://dl.doubtnut.com/l/_s2p5uUvajMFe


Answer: D

Watch Video Solution

194. What is the maximum number of electron in an atom

that can have the quantum numbers ?

A. 4

B. 5

C. 3

D. 6

Answer: D

Watch Video Solution

n = 4, ml = + 1

https://dl.doubtnut.com/l/_s2p5uUvajMFe
https://dl.doubtnut.com/l/_9fAeMdzpKK7r


195. The radius of the forst Bohr orbit of hydrogen atom is

. The radius of the third orbit of  will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.59Å He+

8.46Å

0.705Å

1.59Å

2.38Å

196. Which diagram best represnts the apperance of the

line spectrum of atomic hydorgen in the visible region? 

https://dl.doubtnut.com/l/_aH0bGVgbSCWr
https://dl.doubtnut.com/l/_3iDBTaxgEmLu


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Increa sin gλ

−−−−−−−→

197. The wavelength of spectral line in Lyman series for

electron jumping back from 2nd orbit is

A. 1162Å

https://dl.doubtnut.com/l/_3iDBTaxgEmLu
https://dl.doubtnut.com/l/_PCyD7OzfapAl


B. 

C. 

D. 

Answer: B

Watch Video Solution

1216Å

1362Å

1176Å

198. When the azimuthal quantum number has the value ,

the number of orbitals possible is

A. 3

B. 0

C. 7

D. 5

2

https://dl.doubtnut.com/l/_PCyD7OzfapAl
https://dl.doubtnut.com/l/_mqdu1ZeoAxba


Answer: D

Watch Video Solution

199. The electronic conguration  represnts

a

A. Metal atom

B. Non-metal atom

C. Non-metallic anion

D. Metallic cation

Answer: D

Watch Video Solution

1s22s22p63s23d9

https://dl.doubtnut.com/l/_mqdu1ZeoAxba
https://dl.doubtnut.com/l/_4hXHICVL1P3e


200.  electronic configuration belongs to

A. Ti

B. Tl

C. Cu

D. V

Answer: C

Watch Video Solution

[Ar]183d104s1

201. The wavelength (in Å) of an emission line obtained for

 during an electronic transition  and n = 1 is (R

= Rydberg constant)

Li2 + n2 = 2

https://dl.doubtnut.com/l/_V90MYxJID1F1
https://dl.doubtnut.com/l/_8PAM29Zkcc53


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3R/4

27R/4

4/3R

4/27R

https://dl.doubtnut.com/l/_8PAM29Zkcc53


202. Match the following: 

 

The correct answer is

A. 

B. 

C. 

D. 

Answer: C

(a) (b) (c) (d)

(v) (ii) (iii) (i)

(a) (b) (c) (d)

(iii) (ii) (v) (iv)

(a) (b) (c) (d)

(v) (i) (iii) (ii)

(a) (b) (c) (d)

(iv) (i) (ii) (iii)

https://dl.doubtnut.com/l/_Cax1f8mPVghd


Watch Video Solution

203. What is the wavelength (in m) of a particle of mass

 moving with a velocity of ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6.62 × 10− 29g 103ms− 1

6.62 × 10− 4

6.12 × 10− 3

10− 5

105

https://dl.doubtnut.com/l/_Cax1f8mPVghd
https://dl.doubtnut.com/l/_zoXkaXJ4mbqW


204. What are the values of  and  respectively for 

line in the Lyman series of hydrogen atom spectrum?

A. 3 and 5

B. 2 and 3

C. 1 and 3

D. 2 and 4

Answer: C

Watch Video Solution

n1 n2 HB

205. Total number of radius in the 5th energy level is

A. 5

https://dl.doubtnut.com/l/_cI9urPUzXJxg
https://dl.doubtnut.com/l/_u9g4Tq9AgN1y


B. 10

C. 18

D. 25

Answer: D

Watch Video Solution

206. The atomic number of an element M is 26. How many

electrons are present in the M-shell of the element in its

 state

A. 11

B. 15

C. 14

M 3 +

https://dl.doubtnut.com/l/_u9g4Tq9AgN1y
https://dl.doubtnut.com/l/_tDMzaot0JkjP


D. 13

Answer: D

Watch Video Solution

207. The incorrect statement is

A. circumference of electron orbit  (n = an

integer)

B. de-Broglie equation : 

C. angular momentum of an electron

 is an integral

multiple of .

(2πr) = nλ

λ =
h

mv

( = or mvr = n )
h

mv

2πr

n

h

2π

h

2π

https://dl.doubtnut.com/l/_tDMzaot0JkjP
https://dl.doubtnut.com/l/_bVNLBk0HlTPH


D. angular momentum of the electron in not quantized.

Answer: D

Watch Video Solution

208. Which of the following is not possible for 4p or 3d

electrons?

A. 

B. 

C. 

D. 

Answer: C

n = 3, l = 2, m = + 1, s = +
1

2

n = 4, l = 1, m = 0, s = +
1

2

n = 3, l = 3, m = + 3, s = +
1

2

n = 4, l = 2, m = − 1, s = +
1

2

https://dl.doubtnut.com/l/_bVNLBk0HlTPH
https://dl.doubtnut.com/l/_MpzeujOkgdMJ


Watch Video Solution

209. Which of the following represents the molarity of pure

water?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

55.5

56.5

50.5

57.55

https://dl.doubtnut.com/l/_MpzeujOkgdMJ
https://dl.doubtnut.com/l/_kIF2HblXmjf3


210. For the Paschen series thr values of  and  in the

expression  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n1 n2

ΔE = RHc[ − ]
1

n2
1

1

n2
2

n1 = 1, n2 = 2, 3, 4

n1 = 2, n2 = 3, 4, 5

n1 = 3, n2 = 4, 5, 6

n1 = 4, n2 = 5, 6, 7

211. What is the atomic number of the element with 

ion having electronic configuration  ?

M 2 +

[Ar]3d8

https://dl.doubtnut.com/l/_xU3V0eD83nD3
https://dl.doubtnut.com/l/_4SQMFT2XmJTo


A. 28

B. 26

C. 25

D. 27

Answer: A

Watch Video Solution

212. The correct set of four quantum numbers for

outermost electrons of potassium (Z = 19) is

A. 

B. 

C. 

4, 1, 0,
1

2

3, 1, 0,
1

2

4, 0, 0,
1

2

https://dl.doubtnut.com/l/_4SQMFT2XmJTo
https://dl.doubtnut.com/l/_gKmjCCyP8c3W


D. 

Answer: C

Watch Video Solution

3, 0, 0,
1

2

213. A body of mass x kg is moving with a velocity of

. Its de-Broglie wavelength is .

Hence x is 

A. 

B. 

C. 

D. 

100ms− 1 6.62 × 10− 35m

(h = 6.02 × 10− 34Js)

0.1kg

0.25kg

0.15kg

0.2kg

https://dl.doubtnut.com/l/_gKmjCCyP8c3W
https://dl.doubtnut.com/l/_v68Av29PoN7v


Answer: A

Watch Video Solution

214. Number of unpaired electrons in  (Z = 26) is

A. 0

B. 2

C. 3

D. 5

Answer: D

Watch Video Solution

Fe3 +

https://dl.doubtnut.com/l/_v68Av29PoN7v
https://dl.doubtnut.com/l/_LSqcTV81sAG7
https://dl.doubtnut.com/l/_dEYUGmcraREj


215. The correct set of quantum number for the unpaired

electron of a chlorine atom is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2, 0, 0, +
1

2

2, 1, − 1, ±
1

2

3, 1, 1, +
1

2

3, 0, 0, ±
1

2

216. Common salt obtained from sea water contains

 by mass. The appoximate number of molecules

present in  of the salt is

95 % NaCl

10.0g

https://dl.doubtnut.com/l/_dEYUGmcraREj
https://dl.doubtnut.com/l/_cShgUk41PDHV


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1021

1022

1023

1024

217. Whith increasing principal quantum number, the

energy difference between adjacent energy levels in H-

atom:

A. Increases

B. Decreases

https://dl.doubtnut.com/l/_cShgUk41PDHV
https://dl.doubtnut.com/l/_H3KLRWD95olH


C. Ramains constant

D. Decreases for lower value of n and increases for

higher value of n.

Answer: B

Watch Video Solution

218. Wavelength of electron waves in two Bohr orbits is in

ratio3:5 the ratio of kinetic energy of electron is 25 : x,

hence x is :

A. 

B. 

C. 

25: 9

5: 3

9: 25

https://dl.doubtnut.com/l/_H3KLRWD95olH
https://dl.doubtnut.com/l/_9UsSTJOkbwb5


D. 

Answer: A

Watch Video Solution

3: 5

219. The energy of an electron in the 3rd orbit of an atom is

. The energy of an electron in the first orbit will be

A. 

B. 

C. 

D. 

Answer: D

−E

−3E

−E/3

−E/9

−9E

https://dl.doubtnut.com/l/_9UsSTJOkbwb5
https://dl.doubtnut.com/l/_VQBETT4LndzX


Watch Video Solution

220. The m ratio for electron was determined by ……..

A. J.J. Thomson

B. Dalton

C. Chadwick

D. Goldstein

Answer: A

Watch Video Solution

e/

221. Which orbital give an electron the greatest probability

of being found close to the nucleus

https://dl.doubtnut.com/l/_VQBETT4LndzX
https://dl.doubtnut.com/l/_0qcGthxSlMUt
https://dl.doubtnut.com/l/_yW69WwSbExPN


A. 3p

B. 3d

C. 3s

D. equal

Answer: C

Watch Video Solution

222. If the de Broglie wave length of the fourth Bohr's orbit

of hydrogen atom is 4 Å, the circumference of the orbit is:

A. 

B. 4nm

C. 

4Å

16Å

https://dl.doubtnut.com/l/_yW69WwSbExPN
https://dl.doubtnut.com/l/_NBnuIpb3pTRf


D. 16 nm

Answer: C

Watch Video Solution

223. From the given sets of quantum numbers, the one that

is inconsistent with the theory is:

A. 

B. 

C. 

D. 

Answer: A

n = 3, l = 2, m = − 3, s = +
1

2

n = 4, l = 3, m = 3, s = +
1

2

n = 2, l = 1, m = 0, s = −
1

2

n = 4, l = 3, m = 2, s = +
1

2

https://dl.doubtnut.com/l/_NBnuIpb3pTRf
https://dl.doubtnut.com/l/_gp3qADrT25eL


Watch Video Solution

224. A particle having a mass of 10 milligram has a velocity

of 3600 km/hour. Calculate the wavelength of the particle

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(h = 6.626 × 10− 27erg second)

6.626 × 10− 30cm

6.626 × 10− 31cm

6.626 × 10− 28cm

6.626 × 10− 29cm

https://dl.doubtnut.com/l/_gp3qADrT25eL
https://dl.doubtnut.com/l/_6rQzrX4t7DIp


225. For the principal quantum number n = 2, the possible

values of azimuthal quantum number and magnetic

quantum number respectively are

A. 0, 1 , 2 and 1, 2,3

B. 0, 1, 2 and -1, 0, +1

C. 0, 1 and -1, 0, +1

D. 1, 2, 3 and -1, 0, +1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0LV3CLIi16oT


226. Which is the correct order of wave number of the

following radiations: infrared, ultraviolet, X-rays and visible

light?

A. X-rays  ultraviolet  visible light  infrared

B. Ultraviolet  X-rays  visiblelight  infrared

C. X-rays  ultraviolet  infrared  visible light

D. Visible light  Ultraviolet  X-rays  infrared.

Answer: A

Watch Video Solution

> > >

> > >

> > >

> > >

https://dl.doubtnut.com/l/_ahzsEU0zTxUi


227. What is the maximum number of emission lines when

the excited electron of a H atom in  drop to the

ground state?

A. 10

B. 5

C. 12

D. 15

Answer: A

Watch Video Solution

n = 6

228. The dual nature of radiation was proposed by ………..

https://dl.doubtnut.com/l/_WSx7T1P99csy
https://dl.doubtnut.com/l/_IEanBbwOSb1q


A. Neils Bohr

B. Erwin Schrodinger

C. Louis de Broglie

D. Max Planck

Answer: C

Watch Video Solution

229. Out of the following which is the correct set of

quantum number for outermost electron of potassium (Z =

19) ?

A. 

B. 

n l m s

4 3 2 −1/2

n l m s

4 2 0 −1/2

https://dl.doubtnut.com/l/_IEanBbwOSb1q
https://dl.doubtnut.com/l/_hiR4JYiFNb0W


C. 

D. 

Answer: D

Watch Video Solution

n l m s

4 1 0 +1/2

n l m s

4 0 0 −1/2

230. In photoelectric effect, the kinetic energy of

photoelectrons increases linearly with the

A. wavelength of incident light

B. frequency of incident light

C. velocity of incident light

D. atomic mass of an element

https://dl.doubtnut.com/l/_hiR4JYiFNb0W
https://dl.doubtnut.com/l/_rw8EC0BUDy2S


Answer: B

Watch Video Solution

231. Which of the following orbitals will have zero

probability of finding the electron in the pz plane

A. px

B. py

C. pz

D. dyz

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_rw8EC0BUDy2S
https://dl.doubtnut.com/l/_ub784pVBkgKb


232. If a species has 16 protons and 16 neutros, find the

species and its charge

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S1 −

Si2 −

p3 −

S2 −

233. The wave number of the spectral line in the emission

spectrum of hydrogen will be equal to  times the
8

9

https://dl.doubtnut.com/l/_LMBbQfIJA7rc
https://dl.doubtnut.com/l/_rSWbpkVoOB4b


Rydberg's constant if the electron jumps from …………..:-

A. n = 3 to n = 1

B. n = 10 to n = 1

C. n = 9 to n = 1

D. n = 2 to n = 1

Answer: A

Watch Video Solution

234. The shortest wavelength in hydrogen spectrum of

Lyman series when  is :-

A. 

RH = 109678cm− 1

1002.7Å

https://dl.doubtnut.com/l/_rSWbpkVoOB4b
https://dl.doubtnut.com/l/_xqxjN2xHdg1O


B. 

C. 

D. 

Answer: D

Watch Video Solution

1215.67Å

1127.30Å

911.7Å

235. A 600 W mercury lamp emits monochromatic radiation

of wave length 313.3 nm. How many photons are emitted

from the lamp per second ? ( , velocity

of light )

A. 

B. 

h = 6.626 × 10− 34Js

= 3 × 108ms− 1

1 × 1019

1 × 1020

https://dl.doubtnut.com/l/_xqxjN2xHdg1O
https://dl.doubtnut.com/l/_Dgx071hWy8l9


C. 

D. 

Answer: C

Watch Video Solution

1 × 1021

1 × 1023

236. The set of quantum numbers of the outermost

electron for copper in its ground state is.............

A. 

B. 

C. 

D. 

4, 1, 1, +
1

2

3, 2, 2, + 1/2

4, 0, 0, +
1

2

4, 2, 2, + 1/2

https://dl.doubtnut.com/l/_Dgx071hWy8l9
https://dl.doubtnut.com/l/_aBpBS3MCYNGC


Answer: C

Watch Video Solution

237. The representation of the ground state electronic

configuration of He by box diagram as

 is wrong

because it violates

A. Heisenberg's uncertainity principle

https://dl.doubtnut.com/l/_aBpBS3MCYNGC
https://dl.doubtnut.com/l/_7M7CQ9S3EPXO


B. Bohr's quantization theory of Angular Momentum

C. Pauli's exclusion principle

D. Hund's rule

Answer: C

Watch Video Solution

238. The electronic transition from n = 2 to n = 1 will

produce shortest wave length in (where n = principle

quantum state)

A. 

B. 

C. H

Li2 +

He+

https://dl.doubtnut.com/l/_7M7CQ9S3EPXO
https://dl.doubtnut.com/l/_jPwVYzDCZYgM


D. 

Answer: A

Watch Video Solution

H +

239. In which one of the following pairs, the two species are

both isoelectronic and isotopic ? (At. Numbers : Ca = 20, Ar

= 18, K = 19, Mg = 12, Fe = 26, Na = 11)

A.  and 

B.  and 

C.  and 

D.  and 

.40 Ca2 − .40 Ar

.39 K + .40 K +

.24 Mg2 + .25 Mg

.23 Na .24 Na+

https://dl.doubtnut.com/l/_jPwVYzDCZYgM
https://dl.doubtnut.com/l/_wBAQiy2KYied


Answer: B

Watch Video Solution

240. The energies  and  of two radiations are 

and  respectively. The relation between their

wavelengths, i.e.,  and  will be.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

E1 E2 25eV

50eV

λ1 λ2

λ1 = λ2
1

2

λ1 = λ2

λ1 = 2λ2

λ1 = 4λ2

https://dl.doubtnut.com/l/_wBAQiy2KYied
https://dl.doubtnut.com/l/_K0hhvRRrIk5u


241. The frequency of light emitted for the transition 

to  of  is equal to the transition in  atom

corresponding to which of the following ?

A. n = 3 to n = 1

B. n = 2 to n = 1

C. n = 3 to n = 2

D. n = 4 to n = 3

Answer: B

Watch Video Solution

n = 4

n = 2 He+ H

https://dl.doubtnut.com/l/_K0hhvRRrIk5u
https://dl.doubtnut.com/l/_mNnJCDp86Dij


242. For balmer series in the spectrum of atomic hydrogen

the wave number of each line is given by

 where  is a constant and  and 

 are integers. Which of the following statements (s), is

(are correct) 

1. As wave length decreases the lines in the series converge 

2. The integer  is equal to 2. 


3. The ionisation energy of hydrogen can be calculated

from the wave numbers of three lines. 

4. The line of shortest wavelength corresponds to = 3.

A. 1, 2 and 3

B. 2, 3 and 4

C. 1, 2 and 4

¯̄̄V = R[ − ]
1

n2
1

1

n2
2

RH n1

n2

n1

https://dl.doubtnut.com/l/_ApQSDe4w5Mbf


D. 2 and 4 only

Answer: C

Watch Video Solution

243. According to Bohr theory, which of the following

transition in hydrogen atom will give rise to the least

energetic proton?

A. n = 6 to n = 1

B. n = 5 to n = 4

C. n = 6 to n = 5

D. n = 5 to n = 3

https://dl.doubtnut.com/l/_ApQSDe4w5Mbf
https://dl.doubtnut.com/l/_1RiU97B2bvoP


Answer: C

Watch Video Solution

244. The electrons identified by the following quantum

numbers  and

, and

(iv)  can be placed in the order of increasing

enegry from the lowest to the highest as

A. 

B. 

C. 

D. 

n

l : (i)n = 4, l = 1, (ii)n = 4, l = 0, (iii)n = 3, l = 2

n = 3, l = 1

(iv) < (ii) < (iii) < (i)

(ii) < (iv) < (i) < (iii)

(i) < (iii) < (ii) < (iv)

(iii) < (i) < (iv) < (ii)

https://dl.doubtnut.com/l/_1RiU97B2bvoP
https://dl.doubtnut.com/l/_UYlLirzIZRAd


Answer: A

Watch Video Solution

245. Imposible orbital among the following is

A. 2s

B. 3f

C. 2p

D. 4d

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UYlLirzIZRAd
https://dl.doubtnut.com/l/_eZF5g5qsX9zU
https://dl.doubtnut.com/l/_6rlGtBrVQr5f


246. The mathematical expression for the uncertainty

principle is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔxΔp ≥ h/4π

ΔxΔv ≥ h/(4πm)

ΔE. ΔT ≥ h/4π

ΔE. Δx ≥ h/4π

247. The ionisation energy of H atom is  The

inoisation energy of  law will be

A. 

13.6eV

Li2 +

27.2eV

https://dl.doubtnut.com/l/_6rlGtBrVQr5f
https://dl.doubtnut.com/l/_AYla91nLvv6N


B. 

C. 

D. 

Answer: C

Watch Video Solution

40.8eV

54.4eV

108.8eV

248. Maximum number of electrons in a sub-shell with

 and  is.

A. 14

B. 16

C. 10

D. 12

l = 3 n = 4

https://dl.doubtnut.com/l/_AYla91nLvv6N
https://dl.doubtnut.com/l/_bhnAKh774NAF


Answer: A

Watch Video Solution

249. Correct set of four quantum numbers for the valence

(outermost) electron of rubidium  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(Z = 37)

5, 1, 1, +
1

2

6, 0, 0, +
1

2

5, 0, 0, +
1

2

5, 1, 0, +
1

2

https://dl.doubtnut.com/l/_bhnAKh774NAF
https://dl.doubtnut.com/l/_Glzpklqtmpd2


250. The kinetic energy of the electron in the second Bohr's

orbit of a hydrogen atom [  is Bohr's radius] is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a0

h2

4π2ma2
0

h2

16π2ma2
0

h2

32π2ma2
0

h2

64π2ma2
0

251. The angular momentum of an electron revolving in a p-

orbital is

https://dl.doubtnut.com/l/_q5TGEjq5Dxlt
https://dl.doubtnut.com/l/_TiUtBpuusHNy


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

h2

√2π

√3
h

2π

√
3

2
h

π

√6
h

2π

252. which set of quantum number is not possible ?

A. 

B. 

C. 

n l m n

3 2 0 +1/2

n l m n

2 2 1 +1/2

n l m n

1 0 0 −1/2

https://dl.doubtnut.com/l/_TiUtBpuusHNy
https://dl.doubtnut.com/l/_WafYq17mz5hP


D. 

Answer: B

Watch Video Solution

n l m n

3 2 2 +1/2

253. The ratio of the frequency corresponding to the third

line in the lyman series of hydrogen atomic spectrum to

that of the first line in Balmer series of  spectrum is

A. 

B. 

C. 

D. 

Li2 +

4/5

5/4

4/3

3/4

https://dl.doubtnut.com/l/_WafYq17mz5hP
https://dl.doubtnut.com/l/_KUtSWhw7ErB4


Answer: D

Watch Video Solution

254. The correct set of four quantum numbers for the

outermost electron of sodium (Z = 11) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3, 1, 0,
1

2

3, 1, 1,
1

2

3, 2, 1,
1

2

3, 0, 0,
1

2

https://dl.doubtnut.com/l/_KUtSWhw7ErB4
https://dl.doubtnut.com/l/_9x3lejSfdYTO


255. The value of Planck's constant is . The

speed of light is . Which value is closest to

the wavelength of quantum of light with frequency of

 ?

A. 10

B. 25

C. 50

D. 75

Answer: C

Watch Video Solution

6.63 × 10− 34Js

3 × 1017nms− 1

6 × 1015 sec− 1

https://dl.doubtnut.com/l/_2P5phTmmzUUQ


256. Based on equation ,

certain conclusions are written. Which of them is not

correct ?

A. The negative sign in equation simply means that the

energy of electron bound to the nucleus is lower that

in would be if the electron were in infinite distance

from the nucleus

B. Lower the value of n, larger is the orbit radius

C. Equation can be used to calculate the change in

energy when the electron chages orbit

D. For n = 1, the electron has a more negative energy

that it does for = 6 which means that the electrons is

E = − 2.178 × 10− 18J( )
Z2

n2

https://dl.doubtnut.com/l/_vfjuNhjO32Vz


more loosely bound in the smallest allowed orbit.

Answer: D

Watch Video Solution

257. Energy of an electron is givem by

. Wavelength of light

required to excited an electron in an hydrogen atom from

level  to  will be 


 and ).

A. 

B. 

C. 

E = − 2.178 × 10− 18J( )
Z2

n2

n = 1 n = 2

(h = 6.62 × 10− 34Js c = 3.0 × 108ms− 1

8.500 × 10− 7m

1.214 × 10− 7m

2.816 × 10− 7m

https://dl.doubtnut.com/l/_vfjuNhjO32Vz
https://dl.doubtnut.com/l/_pZLGJU9PuwSO


D. 

Answer: B

Watch Video Solution

6.500 × 10− 7m

258. What is the maximum number of electrons that can be

associated with a following set of quantum numbers ?

.

A. 10

B. 6

C. 4

D. 2

(n = 3, l = 1 and m = − 1)

https://dl.doubtnut.com/l/_pZLGJU9PuwSO
https://dl.doubtnut.com/l/_Qe4NdWPUwYz1


Selected Straight Objective Type MCQs

Answer: D

Watch Video Solution

1. Which of the following statements are correct for an

electron that has n = 4 and m = -2 ?
(i)The electron may be

in a p-orbital.
 (ii)The electron is in the forth principle

electronic shell.
 (iii)The electron may be in a d-orbital.

(iv)The electron must have the spin quantum number = -1/2

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

https://dl.doubtnut.com/l/_Qe4NdWPUwYz1
https://dl.doubtnut.com/l/_yqfqpg7ht9gc


D. (iii) and (iv)

Answer: C

Watch Video Solution

2. Rutherford's  particle scattering experiment eventually

led to the conclusion that

A. nucleus is very small in size

B. nucleus is rigid part

C. most of the space in the atom is emptys

D. nucleus contains neutrons

Answer: A::B::C

α

https://dl.doubtnut.com/l/_yqfqpg7ht9gc
https://dl.doubtnut.com/l/_ZHVSoIXKTTu8


Watch Video Solution

3. The wave character of moving electron was

experimentally verified by :

A. de Broglie

B. Davision and Germer

C. G.P. Thomson

D. Rutherford

Answer: B::C

Watch Video Solution

4. Which of the following statement (s) is (are) wrong ?

https://dl.doubtnut.com/l/_ZHVSoIXKTTu8
https://dl.doubtnut.com/l/_hh0jT4d2w9Je
https://dl.doubtnut.com/l/_6narBhSLvqcY


A. If the value of l = 0, the electron distribution is

spherical

B. The shape of the orbital is given by magnetic

quantum number

C. Angular momentum of 1s, 2s, 3s electrons are equal

D. In an atom all electrons travel with the same velocity

Answer: B::C

Watch Video Solution

5. Consider the electronic configuration for atoms (X)

 


Which of the following statement (s) us (are) NOT true?

1s22s22p63s1  (Y )1s22s22p64s1

https://dl.doubtnut.com/l/_6narBhSLvqcY
https://dl.doubtnut.com/l/_HWkLh6DN0EJ7


A. Energy is required to change (X) to (Y)

B. (X) represents Na atom

C. (X) and (Y) represents different elements

D. More energy is required to remove one electron from

(Y) than from (X).

Answer: C::D

Watch Video Solution

6. Which of the following statement (s) is (are) not correct?

A. The shape of an atomic orbital depends on the

azimuthal quantum number

https://dl.doubtnut.com/l/_HWkLh6DN0EJ7
https://dl.doubtnut.com/l/_HQWU5qiByNxZ


B. The orientation of an atomic orbital depends on the

magnetic quantum number

C. The energy of an electron in an atomic orbital of

multielectron atom depends on principal quantum

number

D. The number of degenerate atomic orbitals of one

type depends on the values of principal, azimuthal

and magnetic quantum numbers.

Answer: C::D

Watch Video Solution

https://dl.doubtnut.com/l/_HQWU5qiByNxZ


7. For the energy levels in atom, which one of the following

statement (s) is (are) correct?

A. For Ca (Z = 20) energy of the 4s-subshell is less than

3d-subshell

B. For Zn (Z = 30) energy of 3d-subshell is less than 4s-

subshell

C. For Ca (Z = 20) energy of the 4s-subshell is more than

3d-subshell

D. For Zn (Z = 30) energy of 3d-subshell is more than 4s-

subshell

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_S4xZ85apcT70


8. Some of the following sets of quantum numbers are

incorrect for d 4d electron. Which are the incorrect sets?

A. 

B. 4,2,1,0

C. 

D. 

Answer: B::C::D

Watch Video Solution

4, 3, 2, +
1

2

4, 2, − 2, +
1

2

4, 2, 1, −
1

2

https://dl.doubtnut.com/l/_S4xZ85apcT70
https://dl.doubtnut.com/l/_PE5i8iiSD1hR


9. An isotone of  is-


(a) 


(b)  


(c)  


(d)

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

.76
32 Ge

.77
32 Ge

.77
33 As

.77
34 Se

.78
34 Se

.78
34 Se

.77
33 As

.77
34 Se

.77
32 Ge

https://dl.doubtnut.com/l/_eg19A8aobeLB
https://dl.doubtnut.com/l/_WzAtqmNUOnXs


10. Many elements have non-integral atomic masses

because

A. they have isotopes

B. their isotopes have non-integral masses

C. their isotopes have different masses

D. the constituents, neutrons, protons and electrons

combine to give fractional masses.

Answer: A::C

Watch Video Solution

11. Which of the following statement (s) are (are) correct?

https://dl.doubtnut.com/l/_WzAtqmNUOnXs
https://dl.doubtnut.com/l/_HqP4AhUqzZFH


A. The electronic configuration of Cr is 

(Atomic number of Cr = 24)

B. The magnetic quantum number may have a negative

value

C. In silver atom, 23 electrons have a spin of one type

and 24 of the opposite type (Atomic number of Ag =

47)

D. The oxidation state of nitrogen in  is -3

Answer: A::B::C

Watch Video Solution

[Ar]3d54s1

NH3

https://dl.doubtnut.com/l/_HqP4AhUqzZFH


12. The less ground state electronic configeration of

nitrogen atom can be represented by 

A. 

B. 

C. 

D. 

Answer: A::D

https://dl.doubtnut.com/l/_KlhJlcVWFryN


Watch Video Solution

13. How many unpaired electrons are there in ?

A. 0

B. 2

C. 4

D. 8

Answer: B

Watch Video Solution

Ni2 +

https://dl.doubtnut.com/l/_KlhJlcVWFryN
https://dl.doubtnut.com/l/_8pANe1Eopn71


14. Rutherford's experiment on the scattering of  particle

showed for the first time that the atom has

A. Electrons

B. Protons

C. Nucleus

D. Neutrons

Answer: C

Watch Video Solution

α

15. The principal quantum number of an atom is related in

the

https://dl.doubtnut.com/l/_tgVpcd7Q6cIM
https://dl.doubtnut.com/l/_KmOT8o34Ojlv


A. size of the orbital

B. spin angular momentum

C. orbital angular momentum

D. orientation of the orbital in space

Answer: A

Watch Video Solution

16. Any p arbital can accommodate up to

A. four electrons

B. two electrons with parallel spin

C. six electrons

https://dl.doubtnut.com/l/_KmOT8o34Ojlv
https://dl.doubtnut.com/l/_gmtywE1Nal2o


D. two electrons with opposite spin.

Answer: D

Watch Video Solution

17. The magnetic quantum number of an atom is releted to

the

A. size of the orbital

B. spin angular momentum

C. orbital angular momentum

D. orientation of the orbital in space

Answer: D

https://dl.doubtnut.com/l/_gmtywE1Nal2o
https://dl.doubtnut.com/l/_vfHBoXoiKzu4


Watch Video Solution

18. Rutherford's scattering experiment is related to the size

of the

A. nucleus

B. atom

C. electron

D. neutron

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vfHBoXoiKzu4
https://dl.doubtnut.com/l/_8ej1wIRkmOWN


19. When alpha particle are sent through a thin metal foil

,most of them go straight through the foil because

A. -particles are much heavier than electron

B. -particles are positively charged

C. -particles move with high velocity

D. most part of the atom is empty

Answer: D

Watch Video Solution

α

α

α

20. Which electronic level would allow the hydrogen atom

to absorb a photon but not to emit a photon ?

https://dl.doubtnut.com/l/_oL69iaSH3VY3
https://dl.doubtnut.com/l/_bhsSBrfcmxjg


A. 1s

B. 2s

C. 2p

D. 3d

Answer: A

Watch Video Solution

21. Bohr's model can explain

A. the spectrum of hydrogen atom only

B. spectrum of atom or ion containing one electron only

C. the spectrum of hydrogen molecule

https://dl.doubtnut.com/l/_bhsSBrfcmxjg
https://dl.doubtnut.com/l/_nYIVerTPhvWz


D. the solar spectrum

Answer: B

Watch Video Solution

22. Electromagnetic radiation with maximum wavelengths

is :

A. ultra-violet

B. radiowave

C. X-rays

D. infrared

Answer: B

https://dl.doubtnut.com/l/_nYIVerTPhvWz
https://dl.doubtnut.com/l/_L7VN150VSBpP


Watch Video Solution

23. Rutherford's  particle scattering experiment eventually

led to the conclusion that

A. mass and energy are related

B. electrons occupy empty space around the nucleus

C. neutrons are buried deep in the nucleus

D. the point of impact with matter can be precisely

determined

Answer: B

Watch Video Solution

α

https://dl.doubtnut.com/l/_L7VN150VSBpP
https://dl.doubtnut.com/l/_CrctgLlQPf3D
https://dl.doubtnut.com/l/_uOFOntrView9


24. Which of the following sets of quantum numbers

represents an impossible arrangement ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n l m1 ms

3 2 −2 1/2

n l m1 ms

4 0 0 1/2

n l m1 ms

3 2 −3 1/2

n l m1 ms

5 3 0 − 1
2

25. The triad of nuclei that is isotonic is

A. , , .6 C
14 .7 C

15 .9 F
17

https://dl.doubtnut.com/l/_uOFOntrView9
https://dl.doubtnut.com/l/_DzLKyWZhcR2k


B. , , 

C. , , 

D. , , 

Answer: A

Watch Video Solution

.6 C
12 .7 C

14 .9 F
19

.6 C
14 .7 N

14 .9 F
17

.6 C
14 .7 N

14 .9 F
19

26. The orbital diagram in which the Aufbau principle is

violated is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_DzLKyWZhcR2k
https://dl.doubtnut.com/l/_MnSkSK8aEfxQ


Answer: B

Watch Video Solution

27. The quantum number not obtained from the

schrodinger's wave equation is

A. n

B. l

C. m

D. s

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MnSkSK8aEfxQ
https://dl.doubtnut.com/l/_dlGDbb1JPX8k


28. The outer shell configuration of the most

electronegative element is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2np3

ns2np4

ns2np5

ns2np6

29. If the speed of electron in the first bohr orbit of

hydrogen atom is x then the speed of the electron in the

https://dl.doubtnut.com/l/_H1pqrTPYJ27f
https://dl.doubtnut.com/l/_8opszoYbC4OI


third Bohr orbit of hydrogen is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x/9

x/3

3x

9x

30. If wavelength of photon is , 

, then momentum of photons is

A. 

2.2 × 10− 11m

h = 6.6 × 10− 34Js

3 × 10− 23kg/s

https://dl.doubtnut.com/l/_8opszoYbC4OI
https://dl.doubtnut.com/l/_BJrT4ZaMrdmF


B. 

C. 

D. 

Answer: A

Watch Video Solution

1.452 × 10− 44kg/s

3.33 × 1022kg/s

6.89 × 1043kg/s

31. Which of the following does not characteristic X -rays ?

A. The radiation can ionise the gas

B. It causes this ZnS to fluoresence

C. Deflected by electrical and magnetic field

D. Have wavelength shorter than ultra violet rays.

https://dl.doubtnut.com/l/_BJrT4ZaMrdmF
https://dl.doubtnut.com/l/_bOk6nBiQ1e34


Answer: C

Watch Video Solution

32. Which of the following relates to photons both as wave

motion and as a stream of particles?

A. Interference

B. 

C. Diffraction

D. 

Answer: D

Watch Video Solution

E = mc2

E = hv

https://dl.doubtnut.com/l/_bOk6nBiQ1e34
https://dl.doubtnut.com/l/_UJL1pvkde4Ay


33. Which combinations of quantum number  for

the electron in an atom does not provide a permissible

solution of the wave equation ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n, l, m, s

3, 2, − 2, 1/2

3, 3, 1, − 1/2

3, 2, 1, 1/2

3, 1, 1, − 1/2

https://dl.doubtnut.com/l/_5Pey0v6mfoJk


34. The wave number of the first line of Balmer series of

hydrogen is  The wave number of the first

Balmer line of  ion is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

15200cm− 1

Li2 +

15200cm− 1

60800cm− 1

76000cm− 1

136, 800cm− 1

https://dl.doubtnut.com/l/_Ie88O89uxqXh


35. Which of the following has non-spherical sub-shell of

electron ?

A. He

B. B

C. Be

D. Li

Answer: B

Watch Video Solution

36. What transition in the hydrogen spectrum would have

the same wavelength as the Balmer transition  to n = 4

https://dl.doubtnut.com/l/_0INPZEHnBt3X
https://dl.doubtnut.com/l/_KQRZLDTAPROg


 of  spectrum ?

A. n = 4 to n = 1

B. n = 3 to n = 2

C. n = 3 to n = 1

D. n = 2 to n = 1

Answer: D

Watch Video Solution

n = 2 He+

37. Pick out the isoelectronic structures from the following 

(i)  , (ii)  


(iii)  , (iv) 

A. (i) and (ii)

CH +
3 H3O

+

NH3 CH −
3

https://dl.doubtnut.com/l/_KQRZLDTAPROg
https://dl.doubtnut.com/l/_MqiOMq3oAAJv


B. (iii) and (iv)

C. (i) and (iii)

D. (ii) (iii) and (iv)

Answer: D

Watch Video Solution

38. Which of the following is a violation of the Pauli

exclusion principle?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_MqiOMq3oAAJv
https://dl.doubtnut.com/l/_bMutqv3swIuj


Answer: B

Watch Video Solution

39. From the given sets of quantum numbers, the one that

is inconsistent with the theory is:

A. n = 3, l = 2, m = -3, s = +1/2

B. n = 4, l = 3, m = 3, s = +1/2

C. n = 2, l = 1, m = 0, s = -1/2

D. n = 4, l = 3, m = 2, s = +1/2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bMutqv3swIuj
https://dl.doubtnut.com/l/_uotXo7yE1JXL


40. The orbital angular momentum of an electron in -

orbital is

A. 

B. zero

C. 

D. 

Answer: B

Watch Video Solution

2s

+
1

2
h

2π

h

2π

√2.
h

2π

41. Which of the following has maximum number of

unpaired electron ?

https://dl.doubtnut.com/l/_3d8VWKgx5Ef8
https://dl.doubtnut.com/l/_MHyOpmDlSmpZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mg2 +

Ti3 +

V 3 +

Fe2 +

42. An element  has an atomic mass  and atomic

number . Its ion is represented by

A. 

B. 

C. 

M 19

9

M +

M 2 +

M −

https://dl.doubtnut.com/l/_MHyOpmDlSmpZ
https://dl.doubtnut.com/l/_5uiFhUNcN2Xl


D. 

Answer: C

Watch Video Solution

M 2 −

43. The energy of an electron in the first Bohr orbit of H

atom is  The potential energy value (s) of excited

state(s) for the electron in the Bohr orbit of hydrogen

is(are)

A. 

B. 

C. 

D. 

−13.6eV

−3.4eV

−4.2eV

−6.8eV

+6.8eV

https://dl.doubtnut.com/l/_5uiFhUNcN2Xl
https://dl.doubtnut.com/l/_BlhDptXzCD9Z


Answer: A

Watch Video Solution

44. The electronic, identified by quantum numbers n and l,

(i) , (ii) , (iii) , (iv) 

 can be placed in order of increasing energy,

from the lowest to highest, as

A. 

B. 

C. 

D. 

Answer: A

n = 4, l = 1 n = 4, l = 0 n = 3, l = 2

n = 3, l = 1

(iv) < (ii) < (iii) < (i)

(ii) < (iv) < (i) < (iii)

(i) < (iii) < (ii) < (iv)

(iii) < (i) < (iv) < (ii)

https://dl.doubtnut.com/l/_BlhDptXzCD9Z
https://dl.doubtnut.com/l/_vjL36BFetSp9


Watch Video Solution

45. The electronic configuration of an element is

 .This represents its

A. excited state

B. ground state

C. cationic form

D. anionic form

Answer: B

Watch Video Solution

1s22s22p63s23p63d54s1

https://dl.doubtnut.com/l/_vjL36BFetSp9
https://dl.doubtnut.com/l/_Sw1HRC6KmX1p


46. The number of nodal planes in a  orbital is 

A. one

B. two

C. three

D. zero.

Answer: A

Watch Video Solution

px :

47. The wavelength associated with a gold weighing 

and moving at a speed of  is of the order :- 


(a).  


200g

5m/h

10− 10m

https://dl.doubtnut.com/l/_qOiRaRZ8ZCwL
https://dl.doubtnut.com/l/_osILI3NQxVa6


(b). 


(c).  


(d). 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10− 20m

10− 30m

10− 40m

10− 10m

10− 20m

10− 30m

10− 40m

48. The quatum numbers  and  for the electron

spin represent

+
1

2
−

1

2

https://dl.doubtnut.com/l/_osILI3NQxVa6
https://dl.doubtnut.com/l/_xcz7HrV3nx0v


A. rotation of electron in clockwise and anti clockwise

directions respectively

B. rotation of electron in anticlockwise and clockwise

direction respectively

C. magnetic moments of electrons pointing up and

down respectively

D. two quantum mechanical spin states which have no

classical analogue

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xcz7HrV3nx0v


49. If nitrogen atoms had el,ectonic configuration is ? It

would have energy lower than that of the nornal ground

state configuration  because the electrons would

be clear to the nucleus yet  is not oberved because it

violates ?

A. Heisenberg's uncertainity principle

B. Hund's rule

C. Pauli's exclusion principle

D. Bohr postulates of stationary orbits

Answer: C

Watch Video Solution

1s22s22p3

1s2

https://dl.doubtnut.com/l/_nYTnz4UCkCTy
https://dl.doubtnut.com/l/_Q72zWb5jEIFx


50. Rutherford's scattering experiment, which established

the nuclear model of the atom, used a beam of

A. -particles, which impinged on a metal foil and got

absorbed

B. -rays, which impinged on a metal foil and ejected

electrons

C. helium atoms, which impinged on a metal foil and

got scattered

D. helium nuclei, which impinged on a metal foil and got

scattered

Answer: D

Watch Video Solution

β

γ

https://dl.doubtnut.com/l/_Q72zWb5jEIFx


51. Identify the least stable among the following

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li−

Be−

B−

C −

52. How many structures of F is possible ?

A. 2

B. 5

https://dl.doubtnut.com/l/_UFxVGfFngnvU
https://dl.doubtnut.com/l/_mMnygLw8HKpU


C. 6

D. 3

Answer: C

Watch Video Solution

53. The radius of which of the following orbit is same as

that of the first Bohr's orbit of hydrogen atom.

A.  (n=2)

B.  (n = 2)

C.  (n=3)

D.  (n=2)

He+

Li2 +

Li2 +

Be3 +

https://dl.doubtnut.com/l/_mMnygLw8HKpU
https://dl.doubtnut.com/l/_8VpAyufUoh71


Answer: D

Watch Video Solution

54. The number of radial nodes in  and , respectively,

are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3s 2p

0, 2

2, 1

2, 0

1, 2

https://dl.doubtnut.com/l/_8VpAyufUoh71
https://dl.doubtnut.com/l/_7MM9wtehCzBL


55. A proton is about  times heavier than an electron.

When it is accelerated by a potential difference difference

of , its kinetic enegry will be

A. 1840 keV

B. 1/1840 keV

C. 1keV

D. 920 keV

Answer: C

Watch Video Solution

1840

1kV

https://dl.doubtnut.com/l/_RNSo1JkQxriR


56. According to Boohr's theory the angular momentum of

an electron in 5th orbit is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10h/π

2.5h/π

25h/π

1.0h/π

57. Uncertainty in the position of an electron mass

 moving with a velocity  accurate(9. 1 × 1031kg) 300ms− 1

https://dl.doubtnut.com/l/_jJ8SebxSUN5w
https://dl.doubtnut.com/l/_7wljowglsywW


uptp  will be :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.001 %

1.92 × 10− 2m

3.84 × 10− 2m

19.2 × 10− 2m

5.76 × 10− 34m

58. The de Broglie wavelength associated with a ball of

mass  having kinetic enegry  is

A. 

1kg 0.5J

6.626 × 10− 34m

https://dl.doubtnut.com/l/_7wljowglsywW
https://dl.doubtnut.com/l/_SPOXIm7Mx2wW


B. 

C. 

D. 

Answer: A

Watch Video Solution

13.20 × 10− 34m

10.38 × 10− 29m

6.626 × 10− 34Å

59. Given  and 

, the uncertainty involved in the measuremenetof velocity

within a distance of  is

A. 

B. 

C. 

me = 9.11 × 10− 31kg h = 6.626 × 10− 34Js

0.1Å

5.79 × 108ms− 1

5.79 × 105ms− 1

5.79 × 106ms− 1

https://dl.doubtnut.com/l/_SPOXIm7Mx2wW
https://dl.doubtnut.com/l/_NEzEMtV68bc9


D. 

Answer: C

Watch Video Solution

5.79 × 107ms− 1

60. Which of the following sets of quantum numbers

represents the highest energy of an atom?

A. 

B. 

C. 

D. 

Answer: C

n = 3, l = 0, m = 0, s = +
1

2

n = 3, l = 1, m = 1, s = +
1

2

n = 3, l = 2, m = 1, s = +
1

2

n = 4, l = 0, m = 0, s = +
1

2

https://dl.doubtnut.com/l/_NEzEMtV68bc9
https://dl.doubtnut.com/l/_7VHvnBYJ404J


Watch Video Solution

61. Consider the following sets of quantum numbers. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


Which of the following sets of quantum number is not

possible ?

A. (i) and (ii)

B. (ii), (iii) and (iv)

C. (i), (ii), (iii) and (iv)

n l m s

3 0 0 +1/2
n l m s

2 2 1 +1/2
n l m s

4 3 −2 −1/2
n l m s

1 0 −1 −1/2
n l m s

3 2 3 +1/2

https://dl.doubtnut.com/l/_7VHvnBYJ404J
https://dl.doubtnut.com/l/_h0xQvIee2JkA


D. (ii), (iv) and (v)

Answer: D

Watch Video Solution

62. If uncertainty in position and momentum are equal

then uncertainty in velocity is.

A. 

B. 

C. 

D. 

Answer: A

√
1

2m
h

π

√
h

2π

√
1

m

h

π

√
h

π

https://dl.doubtnut.com/l/_h0xQvIee2JkA
https://dl.doubtnut.com/l/_NrxC8ObByAgJ


Watch Video Solution

63. The measurement of the electron position is associated

with an uncertainty in momentum, which is equal to

. The uncertainty in electron velocity is

(mass of an electron is )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 × 10− 18gcms− 1

9 × 10− 28g

1 × 109cms− 1

1 × 106cms− 1

1 × 105cms− 1

1 × 1011ms− 1

https://dl.doubtnut.com/l/_NrxC8ObByAgJ
https://dl.doubtnut.com/l/_RYfgkwknjyuO


64. The ionization enthalpy of hydrogen atom is

. The energy required to excite the

electron in the atom from  to  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.312 × 106Jmol− 1

n = 1 n = 2

7.56 × 105Jmol− 1

9.84 × 105Jmol− 1

8.51 × 105Jmol− 1

6.56 × 105Jmol− 1

https://dl.doubtnut.com/l/_2zerTCj5DXNp


65. Maximum number of electrons in a sub-shell of an atom

is determined by the following.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2n2

4l + 2

2l + 2

4l − 2

66. Which of the following is not permissible arrangement

of electrons in an atom ?

https://dl.doubtnut.com/l/_KVdW1uqxlR48
https://dl.doubtnut.com/l/_JzBcPO2rj9PE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n = 3, l = 2, m = − 2, s = − 1/2

n = 4, l = 0, m = 0, s = − 1/2

n = 5, l = 3, m = 0, s = + 1/2

n = 3, l = 2, m = 3, s = − 1/2

67. In an atom , an electron is moving with a speed of 600

m/s with an accuracy of  . The certainty with which

the position of the electron can be located is (h =

 , mass of electron , 

 kg ):

0.05 %

6.6 × 10− 34kgm2s− 1

em = 9.1 × 10− 31

https://dl.doubtnut.com/l/_JzBcPO2rj9PE
https://dl.doubtnut.com/l/_rrVBVUiUomVr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.52 × 10− 4m

5.10 × 10− 3m

1.92 × 10− 3m

3.84 × 10− 3m

68. Given that the abundacne of isotopes , ,

and  is 5%, 90% and 5% respectively. The atomic

mass of  is

A. 

B. 

.54 Fe .56 Fe

.57 Fe

Fe

55.85

55.95

https://dl.doubtnut.com/l/_rrVBVUiUomVr
https://dl.doubtnut.com/l/_Nw31NYD4YVui


C. 

D. 

Answer: B

Watch Video Solution

55.75

56.05

69. The energy required to break one mole of 

bonds in  is . The longest wavelength of

light capable of breaking a since  bond is

A. 494 nm

B. 594 nm

C. 640 nm

D. 700 nm

Cl − Cl

Cl2 242kJmol− 1

Cl − Cl

https://dl.doubtnut.com/l/_Nw31NYD4YVui
https://dl.doubtnut.com/l/_SpHse3suSbgz


Answer: A

Watch Video Solution

70. If , the correct sequence for filling of electrons

will be.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n = 6

ns → (n − 2)f → np → (n − 1)d

ns → np → (n − 1)d → (n − 2)f

ns → (n − 2)f → (n − 1)d → np

ns → (n − 1)d → (n − 2)f → np

https://dl.doubtnut.com/l/_SpHse3suSbgz
https://dl.doubtnut.com/l/_uc0eh8FLGaGa


Compre.

1. An electron in an atom can be completely designated

with the help of four quantum numbers. Out of these, the

first three i.e., principal (n), azimuthal (l) and magnetic (m)

quantum number are obtained from the solution of

Shrodinger wave equation while the spin(s) quantum

number arises from the spin of the electron around its axis

clockwise or antiaclockwise. Ot of these principal quantum

number tells about the size, azimuthal quantum number

about the shape and magnetic quantum signifies the

orientation of the electron orbital. 

The maximum number of electrons in a subshell having the

same value of spin quantum number is given by

A. l + 2

https://dl.doubtnut.com/l/_A4vo6w2ADvM5


B. 

C. 

D. 

Answer: B

Watch Video Solution

2l + 1

l(l + 1)

√l(l + 1)

2. An electron in an atom can be completely designated

with the help of four quantum numbers. Out of these, the

first three i.e., principal (n), azimuthal (l) and magnetic (m)

quantum number are obtained from the solution of

Shrodinger wave equation while the spin(s) quantum

number arises from the spin of the electron around its axis

clockwise or antiaclockwise. Ot of these principal quantum

https://dl.doubtnut.com/l/_A4vo6w2ADvM5
https://dl.doubtnut.com/l/_qH5anKMNfx4v


number tells about the size, azimuthal quantum number

about the shape and magnetic quantum signifies the

orientation of the electron orbital. 

The electronic configuration of P in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO4

1s22s22p63s23p3

1s22s22p63s2

1s22s22p6

1s22s22p63s23p64s1

https://dl.doubtnut.com/l/_qH5anKMNfx4v


3. An electron in an atom can be completely designated

with the help of four quantum numbers. Out of these, the

first three i.e., principal (n), azimuthal (l) and magnetic (m)

quantum number are obtained from the solution of

Shrodinger wave equation while the spin(s) quantum

number arises from the spin of the electron around its axis

clockwise or antiaclockwise. Ot of these principal quantum

number tells about the size, azimuthal quantum number

about the shape and magnetic quantum signifies the

orientation of the electron orbital. 

How many electrons in a given atom have the following set

of quantium numbers? 

A. 1

n = 3, l = 2, m = + 2, s = − 1/2

https://dl.doubtnut.com/l/_IplTd40cQ82f


B. 18

C. 14

D. cannot be known

Answer: A

Watch Video Solution

4. It is not possible to determine preciselt both the

position and momentum (or velocity) of a small moving

particle such as electron, proton etc. This is known as

Heisenber uncertainty principle. The mathemactical form of

this principle is : 

 (constant) 


However this principle is irrevalent in case of bigger

Δx. Δp ≥
h

4π

https://dl.doubtnut.com/l/_IplTd40cQ82f
https://dl.doubtnut.com/l/_PClRmiERPq59


particles such as a cup, ball, car etc., that we come across in

our daily life. 

In case of small microscopic particles, Heisenberg's

uncertainty principle rules out simultaneous exact

determination of their

A. energy and velocity

B. charge density and radius

C. postion and momentum

D. none of the above three

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PClRmiERPq59


5. It is not possible to determine preciselt both the

position and momentum (or velocity) of a small moving

particle such as electron, proton etc. This is known as

Heisenber uncertainty principle. The mathemactical form of

this principle is : 

 (constant) 


However this principle is irrevalent in case of bigger

particles such as a cup, ball, car etc., that we come across in

our daily life. 

If the uncertainty in position of the electron is zero, the

uncertainty in its momentum would be

A. zero

B. greater than 

C. less than 

Δx. Δp ≥
h

4π

h/4π

h/4π

https://dl.doubtnut.com/l/_tnEDFV8kkhkW


D. infinite.

Answer: D

Watch Video Solution

6. It is not possible to determine preciselt both the

position and momentum (or velocity) of a small moving

particle such as electron, proton etc. This is known as

Heisenber uncertainty principle. The mathemactical form of

this principle is : 

 (constant) 


However this principle is irrevalent in case of bigger

particles such as a cup, ball, car etc., that we come across in

our daily life. 

Δx. Δp ≥
h

4π

https://dl.doubtnut.com/l/_tnEDFV8kkhkW
https://dl.doubtnut.com/l/_494tzRFEFDHe


If uncertainty in position and momentum are equal, the v

uncertainty in velocity would be

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

√
1

2m
h

π

√
h

2π

√
h

π

7. It is not possible to determine preciselt both the position

and momentum (or velocity) of a small moving particle

such as electron, proton etc. This is known as Heisenber

https://dl.doubtnut.com/l/_494tzRFEFDHe
https://dl.doubtnut.com/l/_Zj0P6OcGwgm0


uncertainty principle. The mathemactical form of this

principle is : 

 (constant) 


However this principle is irrevalent in case of bigger

particles such as a cup, ball, car etc., that we come across in

our daily life. 

Given that the mass of electron is  and

velocity of electron is , if uncertainty in its

velocity is , the uncertainty in position would be

A. 

B. 

C. 

D. 

Answer: A

Δx. Δp ≥
h

4π

9.1 × 10− 31kg

2.2 × 106ms− 1

0.1 %

26nm

32nm

48nm

50nm

https://dl.doubtnut.com/l/_Zj0P6OcGwgm0


Watch Video Solution

8. An electron in the hydrogen atom absorbs energy and

jumps to the 4th orbit. It jumps back to the ground state in

steps e.g., from 4th to 3rd orbit, then from 3rd to 2nd orbit

and finally to the ground state etc. 

Total number of lines obtained in the spectrum would be

A. 3

B. 6

C. 9

D. 12

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Zj0P6OcGwgm0
https://dl.doubtnut.com/l/_HgiTytgVauVW


Watch Video Solution

9. An electron in the hydrogen atom absorbs energy and

jumps to the 4th orbit. It jumps back to the ground state in

steps e.g., from 4th to 3rd orbit, then from 3rd to 2nd orbit

and finally to the ground state etc. 

If  is the wave length of line for jump of the electron

from 4th to 3rd orbit and  that of the line for jump from

3rd to 2nd orbit, then wavelength of the line for jump from

4th orbit to 2nd orbit would be

A. 

B. 

C. 

D. 

λ1

λ2

λ1 + λ2

λ1λ2

λ1 + λ2

λ1λ2

λ1 − λ2

λ1 + λ2

λ1 + λ2

https://dl.doubtnut.com/l/_HgiTytgVauVW
https://dl.doubtnut.com/l/_iv9YYBnwkl8f


Answer: B

Watch Video Solution

10. An electron in the hydrogen atom absorbs energy and

jumps to the 4th orbit. It jumps back to the ground state in

steps e.g., from 4th to 3rd orbit, then from 3rd to 2nd orbit

and finally to the ground state etc. 

If the ionization of the hydrogen atom in the ground state

is . The longest wavelength of the radiation

required to remove the electron from Bohr's first orbit will

be approximately

A. 

B. 

13.6eV

612Å

712Å

https://dl.doubtnut.com/l/_iv9YYBnwkl8f
https://dl.doubtnut.com/l/_uFfbrWl29cIq


C. 

D. 

Answer: D

Watch Video Solution

812Å

912Å

11. An electron in the hydrogen atom absorbs energy and

jumps to the 4th orbit. It jumps back to the ground state in

steps e.g., from 4th to 3rd orbit, then from 3rd to 2nd orbit

and finally to the ground state etc. 

If  represents Bohr radius, the de-Broglie wavelength of

the electron when it moves in the 3rd orbit after absorbing

same definite amount of energy will be

A. 

a0

a0 /3

https://dl.doubtnut.com/l/_uFfbrWl29cIq
https://dl.doubtnut.com/l/_L0zJx6z2Tfe9


B. 

C. 

D. 

Answer: D

Watch Video Solution

9a0

2πa0

6πa0

12. The enregy, radius and velocity of the electron in the

hydrogen atom in the ground state are 

and  respectively. 


The energy of the electron in the third orbit will be

A. 

B. 

−13.6eV , 0.53Å

2.188 × 108ms− 1

−4.4eV

−1.5eV

https://dl.doubtnut.com/l/_L0zJx6z2Tfe9
https://dl.doubtnut.com/l/_yFfefW027Lw8


C. 

D. 

Answer: B

Watch Video Solution

−40.8eV

−22.4eV

13. The enregy, radius and velocity of the electron in the

hydrogen atom in the ground state are 

and  respectively. 


The radius of the third orbit of hydrogen atom will be

A. 

B. 

C. 

−13.6eV , 0.53Å

2.188 × 108ms− 1

1.59Å

4.77Å

3.0Å

https://dl.doubtnut.com/l/_yFfefW027Lw8
https://dl.doubtnut.com/l/_dxT4BzK6MBNp


D. 

Answer: B

Watch Video Solution

6.0Å

14. The enregy, radius and velocity of the electron in the

hydrogen atom in the ground state are 

and  respectively. 


The velocity of the electron in the third orbit of hydrogen

atom will be

A. 

B. 

C. 

−13.6eV , 0.53Å

2.188 × 108ms− 1

0.729 × 108cms− 1

6.564 × 108cms− 1

19.692 × 108cms− 1

https://dl.doubtnut.com/l/_dxT4BzK6MBNp
https://dl.doubtnut.com/l/_sO5MlB1h2roA


D. 

Answer: A

Watch Video Solution

0.243 × 108cms− 1

15. The enregy, radius and velocity of the electron in the

hydrogen atom in the ground state are 

and  respectively. 


If the electron absorbs  of energy, it will jump to the

orbit

A. 2nd

B. 3rd

C. 4th

−13.6eV , 0.53Å

2.188 × 108ms− 1

12.1eV

https://dl.doubtnut.com/l/_sO5MlB1h2roA
https://dl.doubtnut.com/l/_o0GQ0mT54viN


D. 5th

Answer: B

Watch Video Solution

16. The enregy, radius and velocity of the electron in the

hydrogen atom in the ground state are 

and  respectively. 


In which orbit of  the electron will have same velocity

A. 1st

B. 2nd

C. 4th

D. none

−13.6eV , 0.53Å

2.188 × 108ms− 1

He+

https://dl.doubtnut.com/l/_o0GQ0mT54viN
https://dl.doubtnut.com/l/_nxaDGIJPmNSu


Answer: D

Watch Video Solution

17. The enregy, radius and velocity of the electron in the

hydrogen atom in the ground state are 

and  respectively. 


Which shell of  ion will have the same energy

A. 1st

B. 2nd

C. 3rd

D. 4th

Answer: B

−13.6eV , 0.53Å

2.188 × 108ms− 1

He+

https://dl.doubtnut.com/l/_nxaDGIJPmNSu
https://dl.doubtnut.com/l/_DUJpj2bnqwXY


Matrix match type MCQs

Watch Video Solution

1. Here each question contains statements given in two

columns which have to the matched statements in column I

are labelled as A,B, C and D where as statement in column II

are labelled as p,q,r and s. the answer to these questions

are to be bubbled 4 x 4 matrix. if the correct matched are

A-p,A-s,B-q,C-p, and D-p then the correctly bubbled matrix

should look like the following 

https://dl.doubtnut.com/l/_DUJpj2bnqwXY
https://dl.doubtnut.com/l/_pGztk8UJqB0u


 

Watch Video Solution

https://dl.doubtnut.com/l/_pGztk8UJqB0u


2. Here each question contains statements given in two

columns which have to the matched statements in column I

are labelled as A,B, C and D where as statement in column II

are labelled as p,q,r and s. the answer to these questions

are to be bubbled 4 x 4 matrix. if the correct matched are

A-p,A-s,B-q,C-p, and D-p then the correctly bubbled matrix

should look like the following 

https://dl.doubtnut.com/l/_BGQkO0eB07C0


 

Watch Video Solution

https://dl.doubtnut.com/l/_BGQkO0eB07C0


3. Here each question contains statements given in two

columns which have to the matched statements in column I

are labelled as A,B, C and D where as statement in column II

are labelled as p,q,r and s. the answer to these questions

are to be bubbled 4 x 4 matrix. if the correct matched are

A-p,A-s,B-q,C-p, and D-p then the correctly bubbled matrix

should look like the following 

https://dl.doubtnut.com/l/_RnWGODktsFCT


 

Watch Video Solution

https://dl.doubtnut.com/l/_RnWGODktsFCT


4. Here each question contains statements given in two

columns which have to the matched statements in column I

are labelled as A,B, C and D where as statement in column II

are labelled as p,q,r and s. the answer to these questions

are to be bubbled 4 x 4 matrix. if the correct matched are

A-p,A-s,B-q,C-p, and D-p then the correctly bubbled matrix

should look like the following 

https://dl.doubtnut.com/l/_4fsPsDqrnJRx


 

https://dl.doubtnut.com/l/_4fsPsDqrnJRx


Watch Video Solution

5. Here each question contains statements given in two

columns which have to the matched statements in column I

https://dl.doubtnut.com/l/_4fsPsDqrnJRx
https://dl.doubtnut.com/l/_xgSPLzbD3VLp


are labelled as A,B, C and D where as statement in column II

are labelled as p,q,r and s. the answer to these questions

are to be bubbled 4 x 4 matrix. if the correct matched are

A-p,A-s,B-q,C-p, and D-p then the correctly bubbled matrix

should look like the following 

 

https://dl.doubtnut.com/l/_xgSPLzbD3VLp


Integer Type Questions

 

Watch Video Solution

1. The number of unpaired electrons in the ground state of

chromium atoms is...........

Watch Video Solution

https://dl.doubtnut.com/l/_xgSPLzbD3VLp
https://dl.doubtnut.com/l/_qehE7VytqaiJ


2. Number of electrons with magnetic quantum number

equal to zero present in the outer most orbit of 

are..........

Watch Video Solution

Co2 +

3. The maximum quantum number of electrons that can

have principal quantum number, n=3 and spin quantum

number  is...........

Watch Video Solution

ns =
−1

2

4. The work function  of some metals is listed below .

The number of metals which will show photoelectric effect

(ϕ)

https://dl.doubtnut.com/l/_Sa2tF92C2nHP
https://dl.doubtnut.com/l/_YhEXIxDRZLPg
https://dl.doubtnut.com/l/_9MBATPwe7pFE


Reason Assertion Types MCQs

when light of 300 nm wavelength falls on the metal is : 

Watch Video Solution

1. Assertion (A) : A spectral line will be seen for -

transition 

Reason (R ) : Energy is raleased in the form of wave of light

when the electron drops from  , to  orbital.

A. Both A and R true and R is the correct explanation of

A

2px 2py

2px 2py

https://dl.doubtnut.com/l/_9MBATPwe7pFE
https://dl.doubtnut.com/l/_d5St8Gl2o3xy


B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. Both A and R are false

Answer: D

Watch Video Solution

2. Assertion (A) : The position of electron can be

determined with the help of an electronic microscope. 

Reason (R) : The product of uncertainty in momentum and

the uncertainty in the position of an electron cannot be

less than a finite limit.

https://dl.doubtnut.com/l/_d5St8Gl2o3xy
https://dl.doubtnut.com/l/_WTpBKZg4OM1E


A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

3. Assertion (A) : A single  atom has mass exactly 12

amu and a mole of these atoms has a mass of exactly 12

gram. 

.12 C

https://dl.doubtnut.com/l/_WTpBKZg4OM1E
https://dl.doubtnut.com/l/_n4Svv5QtmiTp


Reason (R) : A mole of atoms of any element has a mass in

gram equal to the atomic mass of the element.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_n4Svv5QtmiTp


4. Assertion (A) : In CO molecule, 12 parts by mass of carbon

combine with 16 parts by mass of oxygen and in , 12

parts by mass of carbon combine with 32 parts by mass of

oxygen. 

Reason (R) : When two elements combine separately with a

fixed mass of a third element, then the ratio of their

masses in which they do so is either the same or whole

number multiple of the ratio in which they combine with

each other.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

CO2

https://dl.doubtnut.com/l/_5aDvszs5T09S


C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

5. Assertion (A) : An orbital cannot have more than two

electrons, more over if an orbital has two electrons they

must have opposite spins. 

Reason (R) : No elements in an atom can have same set of

all four quantum numbers.

A. Both A and R true and R is the correct explanation of

A

https://dl.doubtnut.com/l/_5aDvszs5T09S
https://dl.doubtnut.com/l/_qgknGyHL1Xu0


B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

6. Assertion (A) : The pairing of electrons in the orbitals of a

particular subshell does not occur unitl all the orbitals of

the subshell are singly occupied. 

Reason (R) : Singly occupied orbitals must have the

electrons with parallel spins.

https://dl.doubtnut.com/l/_qgknGyHL1Xu0
https://dl.doubtnut.com/l/_ruYgWSZ92eyq


A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

7. Assertion: Electrons are ejected from a certain metal

when either blue or violet light strikes the metal surface.

However only violet light cause electron ejection from a

https://dl.doubtnut.com/l/_ruYgWSZ92eyq
https://dl.doubtnut.com/l/_ZT6Ci8nKkle0


second metal. 

Reason: The electrons in the first metal requires less

energy for ejection.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZT6Ci8nKkle0


8. Statement-I : The configuration of B atom cannot be

. 

Because 

Statement-II : Hund's rule demands that the configuration

should display maximum multiplicity.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: D

1s22s3

https://dl.doubtnut.com/l/_KSWzXjDVNai3


Watch Video Solution

9. Assertion (A) : In Rutherford's experiment,  particles

from a radium source were allowed to fall on a 

thick gold foil. Most of the particles passed straight

through the foil. 

Reason (R) : The entire positive charge and nearly whole of

the mass of an atom is concentrated in the nucleus.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

α

10− 4mm

https://dl.doubtnut.com/l/_KSWzXjDVNai3
https://dl.doubtnut.com/l/_FDyfOAIpcteb


D. A is false but R is true

Answer: B

Watch Video Solution

10. The cation energy of an electron is largely determined

by its principal quantum number. 

The principal quantum number  is a measure of the most

probable distance of finding atomic the electron around

the nucleus.

A. Both A and R true and R is the correct explanation of

A

n

https://dl.doubtnut.com/l/_FDyfOAIpcteb
https://dl.doubtnut.com/l/_VF2VAE0fr6fi


B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

11. Assertion (A) : The isotopes are the atoms of the same

element with different atomic masses. They require

different positions in the periodic table. 

Reason (R) : Variable number of neutrons in the nuclei of

the atoms of same elements leads to the different atomic

masses.

https://dl.doubtnut.com/l/_VF2VAE0fr6fi
https://dl.doubtnut.com/l/_daPOXSKTxsrx


A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

12. Assertion (A) : Neutrons have no charge but protons are

positively charged, hence net result is repulsion in them in

the nucleus of an atom. In the presence of this repulsion

https://dl.doubtnut.com/l/_daPOXSKTxsrx
https://dl.doubtnut.com/l/_2b5HODUm03JU


the nucleus is highly stable. 

Reason (R) : The pair of nucleous (neutrons and protons)

continuously exchanges the charge through mesons which

may either be positively or negatively charged.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2b5HODUm03JU
https://dl.doubtnut.com/l/_b4nbId4lq3jv


13. Assertion (A) : p orbital is dumb- bell shaped 

Reason (R ) :Electron presents in p orbital can have any one

of three value of magnetic quantum number i.e.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

0, + 1, or − 1

https://dl.doubtnut.com/l/_b4nbId4lq3jv


14. Statement-I : The configuration of B atom cannot be

. 

Because 

Statement-II : Hund's rule demands that the configuration

should display maximum multiplicity.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

1s22s3

https://dl.doubtnut.com/l/_b4nbId4lq3jv
https://dl.doubtnut.com/l/_QdCGjVBhGCkr


Watch Video Solution

15. Assertion: Radio waves can be polarised. 

Reason: Sound waves in air are longitudinal in nature.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QdCGjVBhGCkr
https://dl.doubtnut.com/l/_GniXbVg6Wxsb


16. Statement-I : The ground state configuration of Cr is

. 

Because 

Statement-II : A set of exactly half filled orbitals containing

parallel spin arrangement provide extra stability.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

3d54s1

https://dl.doubtnut.com/l/_GniXbVg6Wxsb
https://dl.doubtnut.com/l/_63IiQSK6Uluv


Answer: A

Watch Video Solution

17. Assertion (A) :  (g) ion is more stable than 

 ion. 


Reason (R) :  ion has more number of unpaired

electrons than  ion.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

Fe3 +

Fe2 + (g)

Fe3 +

Fe2 +

https://dl.doubtnut.com/l/_63IiQSK6Uluv
https://dl.doubtnut.com/l/_rvgmTgSFff3M


D. A is false but R is true

Answer: B

Watch Video Solution

18. Assertion (A) : When ordinary light is incident on thin oil

film on the surface of water, different colours are seen. 

Reason (R) : White light is composed of seven different

colours.

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

https://dl.doubtnut.com/l/_rvgmTgSFff3M
https://dl.doubtnut.com/l/_i9GLMROXvbSb


C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

19. Assertion (A) : Hydrogen has only one electron in its 1s

orbital but it produces several spectral lines. 

Reason (R) : There are many excited energy levels available

in H atoms.

A. Both A and R true and R is the correct explanation of

A

https://dl.doubtnut.com/l/_i9GLMROXvbSb
https://dl.doubtnut.com/l/_5uAsvMHcLqrH


B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

20. Assertion (A) : An orbital cannot have more than two

electron

Reason (R ) : The two electrons is an orbital create opposite

magnetic field

https://dl.doubtnut.com/l/_5uAsvMHcLqrH
https://dl.doubtnut.com/l/_GgPDt91Cv3aS


A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

21.  and  are used in photoelectric cells. 


 and  emit electrons on exposure to light.

K Cs

K Cs

https://dl.doubtnut.com/l/_GgPDt91Cv3aS
https://dl.doubtnut.com/l/_1hwRnggKJSBi


Ultimate Preparatory Package

A. Both A and R true and R is the correct explanation of

A

B. Both A and R are true but R is not a correct

explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1hwRnggKJSBi


1. Pick out of the correct statement: 

In a a cathode ray tube cathode rays

A. move from cathode to anode

B. move from anode to cathode

C. are made up of photons

D. none of these

Answer: D

Watch Video Solution

2. In a discharged tube containing only one elementary gas

other than hydrogen, the different anode by particles

https://dl.doubtnut.com/l/_R4AHrqwwoEx7
https://dl.doubtnut.com/l/_GdaxDa8v1upr


A. have same e/m value but not equal to unity

B. have different e/m values which are not related to

each other

C. may have different e/m values which are integral

multiple of lowest possible e/m value

D. have e/m value equal to unity.

Answer: C

Watch Video Solution

3. Pick out the correct statement : 

In a multielectron atom

A. energy of 4s subshell is always less than 3d subshell

https://dl.doubtnut.com/l/_GdaxDa8v1upr
https://dl.doubtnut.com/l/_RyDM0HfZ5SkE


B. energy of 4s subshell is always more than 3d subshell

C. energy of 4s subshell is always equal to 3d subshell

D. none of these

Answer: D

Watch Video Solution

4. Out of the physical, chemical and nuclear properties of

an element, which properties depend upon its electronic

configuration ?

A. Only chemical properties

B. Only physical properties

C. Chemical and nuclear properties

https://dl.doubtnut.com/l/_RyDM0HfZ5SkE
https://dl.doubtnut.com/l/_2JPfP6s9zgRm


D. Physical and chemical properties

Answer: D

Watch Video Solution

5. Pick up the correct statement about the following pairs 

I : Ar and , II: Fe and  


(At. No. Ar = 18, S = 16, Fe = 26, Ni = 28)

A. Both of these pairs contain isoelectronic species

B. Only pair (I) is isoelectronic

C. Only pair (II) is isoelectronic

D. None of the pair is isoelectronic.

S2 − Ni2 +

https://dl.doubtnut.com/l/_2JPfP6s9zgRm
https://dl.doubtnut.com/l/_RER26P5mWeIg


Answer: B

Watch Video Solution

6. A 3p-orbital has

A. Only one nodal plane and no spherical node

B. Only one spherical node and no nodal plane

C. One nodal plane and one spherical node

D. One nodal plane and two spherical nodes.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RER26P5mWeIg
https://dl.doubtnut.com/l/_dQpYs4kXkGU2
https://dl.doubtnut.com/l/_ovPlpgApf9vw


7.  represents

A. a quanta of wavelength 0.01 cm

B.  of energy

C.  of energy

D. None of these

Answer: D

Watch Video Solution

1.00cm− 1

1.09 × 10− 23Jatom − 1

6.02 × 1023Jmol− 1

8. Which of the following relates to light as wave motion as

well as a stream of particles ?

A. Diffraction

https://dl.doubtnut.com/l/_ovPlpgApf9vw
https://dl.doubtnut.com/l/_YyOagbsvdcCe


B. Photoelectric effect

C. Interference

D. None of these

Answer: D

Watch Video Solution

9. Light of wavelength  shines on a metal surface with

initail X and the metal emit Y electron per second of

average Z what will happen to Y and Z if X is doubled ?

A. Y will increase and Z will decrease

B. Z will increase and Y remains constant

C. Z will decrease and Y remains constant

λ

https://dl.doubtnut.com/l/_YyOagbsvdcCe
https://dl.doubtnut.com/l/_n7HWVB7bvrE6


D. Y will decrease and Z will increase.

Answer: B

Watch Video Solution

10. Light of wavelength  shines on a metal surface with

initail X and the metal emit Y electron per second of

average Z what will happen to Y and Z if X is doubled ?

A. Z will remains constant and Y will increase

B. Both Z and Y will remain constant

C. Z will decrease and Y will increase

D. Both Z and Y will increase

λ

https://dl.doubtnut.com/l/_n7HWVB7bvrE6
https://dl.doubtnut.com/l/_qH7AZyGbwEWS


Answer: A

Watch Video Solution

11. Number of possible orbital diagrams for the configurate

 is

A. One

B. Two

C. Four

D. Six

Answer: D

Watch Video Solution

1s22p1

https://dl.doubtnut.com/l/_qH7AZyGbwEWS
https://dl.doubtnut.com/l/_4vd1i7cLB7ML


12. Pick out of the correct statement about de Broglie

concept

A. It is applicable only for submicroscopic objects in the

range of atoms, molecules and sub atomic particles

B. It can accurately be applied to motion of an electron

around the nucleus

C. It is applicable only for microscopic particles

D. None of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gXi5fGVi02SH


13. Which d-orbtial has its four lobes along the axis?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dxy

dyz

dzx

dx2 −y2

14. Which d-orbital does not have four lobes?

A. 

B. l

dz2

https://dl.doubtnut.com/l/_XyLNVzw8ywJ6
https://dl.doubtnut.com/l/_iYawE4RxCQdz


C. m

D. s

Answer: A

Watch Video Solution

15. Which quantum number is not related with Schrodinger

equation :-

A. n

B. l

C. m

D. s

https://dl.doubtnut.com/l/_iYawE4RxCQdz
https://dl.doubtnut.com/l/_WyVqLe2lQyCA


Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WyVqLe2lQyCA

